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REE =& 3 [ 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
REF EY 3 [ 66| 1 2 2 FE = 0 0 T # 2 - = = = %1
REG =5 3 [ 66| 1 2 2 FE = 1 1 T # 2 - = = = %1
ER WA 3 [ 66| 1 2 2 RER = 1 1 T # 2 - = = = %1
el BT 3 [ 66| 1 2 2 FE = 2 2 T # 2 - = = = %1
=ED " 3 [ 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
REK TRAE 3 [ 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
REL (75 3 [ 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
SREM EIE— 33 6.6 1 5 5 nES - 5 5 AE] #2 - - - - X1
REN wIEm 3 [ 66| 1 5 5 FE = 2 0 T # 2 - = = = %1
REO 3| 66 | 1 5 5 RER = 7 0 T # 2 - = = = %1
REP 3| 66 | 1 5 5 RER = 3 3 T # 2 - = = = %1
=EQ 3| 66 | 1 5 5 = = 3 3 T # 2 - = = = %1
RER 3| 66 | 1 2 2 RER = 1 1 T # 2 - = = = %1
RES 3| 66 | 1 2 2 RER = 2 2 T # 2 - = = = %1
SRET 33 6.6 1 5 5 BnES - 4 4 AE] #2 - - - - X1
SREU =i 33 6.6 1 5 5 iy - 5 0 AE] #2 - - - - X1
REV il 3| 66 | 1 2 2 B = 1 1 T # 2 - = = = %1
SREW FR 33 6.6 1 5 5 iy - 1 0 AE] #2 - - - - X1
REX Ko 3 [ 66| 1 2 2 S = 2 2 T # 2 - = = = %1
REY T 3| 66 | 1 2 2 B = 2 2 T # 2 - = = = %1
REZ [ 3| 66 | 1 2 2 RER = 1 1 T # 2 - = = = %1
=FA B 3 [ 66| 1 2 2 wER = 1 1 T # 2 - = = = %1
=) W 3 [ 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
SRFC =il 33 6.6 1 5 5 BnES - 1 1 AE] #2 - - - - X1
=D EZ 3 [ 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
RFE T 3 [ 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
=FF [ 3 [ 66| 1 2 2 wER = 2 2 T # 2 - = = = %1
=G W 3 [ 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
=FA e 3 [ 66| 1 2 2 waR = 1 1 T # 2 - = = = %1
IRFI L5701 22 6.6 1 5 5 BnES - 5 5 AE] #2 - - - - X1
= wE 2 | 66 | 1 2 2 wER = 2 2 T # 2 - = = = %1
=K & 2 | 66 | 1 2 2 RER = 2 2 T # 2 - = = = %1
SRFL b|dry: | 33 6.6 1 5 5 iy - 1 1 AE] #2 - - - - 1
RFM J\#E 22 6.6 1 5 5 iy - 5 5 AE] #2 - - - - X1
RFN FARIN 33 6.6 1 5 5 - 5 5 AE] # 2 - - - - %1
=FO e 3 | 66 | 1 2 2 = 2 2 T # 2 - = = = %1
=P SR 3 [ 66| 1 2 2 = 2 2 T # 2 - = = = %1
RFQ KL 33 6.6 1 5 5 - 5 5 AE] # 2 - - - - %1
SRFR DT 33 6.6 1 2 2 - 1 1 AE] # 2 - - - - X1
RFS JIES )] 33 6.6 1 2 2 - 1 1 AE] # 2 - - - - %1
RFT g3l 22 6.6 1 2 2 - 1 0 AE] # 2 - - - - X1
RFU L3 33 6.6 1 5 5 - 5 5 AE] # 2 - - - - %1
=RV R 2 | 66 | 1 2 2 = 1 0 T # 2 - = = = %1
=W Ba 3 | 66 | 1 2 2 = 2 2 T # 2 - = = = %1
SRFX Eil 33 6.6 1 2 2 - 1 1 AE] # 2 - - - - X1
RFY ESII] 22 6.6 1 5 5 - 2 2 AE] # 2 - - - - %1
RFZ R0 22 6.6 1 5 5 - 2 2 AE] # 2 - - - - %1
RGA BILE 2 | 66 | 1 2 2 = 0 0 T # 2 - = = = %1
RGB B 22 6.6 1 5 5 - 4 3 AE] # 2 - - - - %1
RGC IEE2 22 6.6 1 5 5 - 5 5 AE] # 2 - - - - %1
RGD FIIEE 2 | 66 | 1 5 5 = 5 5 T # 2 - = = = %1
RGE o0 2 | 66| 1 5 5 = 1 0 T # 2 - = = = %1
RGF AR 3 [ 66| 1 2 2 = 2 0 T # 2 - = = = %1
GG WE 3| 66 | 1 5 5 = 5 0 T # 2 - = = = %1
=GH ] 3| 66 | 1 2 2 = 2 0 T # 2 - = = = %1
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No BN B oowxszo | mw) | mwmm | TEER Tm | Emaem | E2HE0 R =
= LR | HORSES FIRElE & i
EE il 33 | 66 | 1 2 2 ] - 1 0 o] #2 = - - = %1
=G) EIE 3 | 66 | 1 2 2 = = 2 0 T # 2 - = = .
TGK (] 3 | 66 | 1 5 5 = = 5 0 T # 2 - = = .
HGL R 3 | 66 | 1 2 2 = = 2 0 T # 2 - = = .
RGM AR 3 | 66 | 1 2 2 = = 2 0 T # 2 - = = .
TGN = 3 | 66 | 1 2 2 = = 2 0 T # 2 - = = .
RGO B 22 | 66 | 1 2 2 = = 2 0 T # 2 - = = .
=GP = 22 | 66 | 1 2 2 = = 2 0 T # 2 - = = .
=GQ " 3 | 66 | 1 2 2 = = 2 2 T # 2 - = = .
RGR P50 3 | 66 | 1 5 5 = = 0 0 T # 2 - = = .
=GS TNE4 22 | 66 | 1 5 5 = = 3 0 T # 2 - = = .
=GT Bl 3 | 66 | 1 2 2 ] = 2 2 T # 2 - = = .
=GU FAE 77 | 66 | 1 19 19 = - 1 1 T # 2 - = = .
ROV HIE 3 | 66 | 1 5 5 = = 2 2 T # 2 - = = .
RGW T8 3 | 66 | 1 2 2 = = 0 0 T # 2 - = = .
A = 3 | 66 | 2 19 19 = - 0 0 T # 2 - = = .
FT) B 77 | 66 | 1 19 19 = - 2 ) T # 2 - = = .
C HO 77 | 66 | 2 19 19 = - 3 3 T # 2 - = = .
E) = 77 | 66 | 2 19 19 = - 1 1 T # 2 - = = .
E KE 77 | 66 | 3 38 38 = - 7 2 T # 2 - = = .
TF R 77 | 66 | 2 28 28 = - 5 5 T # 2 - = = .
TE R 77 | 33 | 2 28 28 = 13 = = T # 1 - = = .
G 7] 77 | 66 | 3 28 28 = - 0 0 Ra] #2 - = = .
T &L 77 | 66 | 2 19 19 = - 8 8 AT #2 - = = .
il =] 77 | 66 | 2 19 19 = - 6 6 Ra] #2 - = = .
ET =] 77 | 22 | 3 85 59 = 5 = = G 26 = = — [x2. 3
e [<33 77 | 66 | 2 36 36 = - 7 7 Ra] #2 - = = .
K Ra 77 | 66 | 2 38 38 SR - 14 14 AT #2 - = = .
K R 77 22 2 57 57 ABE -28 - - AE #1 - - - - X1
T PODEE 77 | 66 | 2 38 38 = - 18 18 AT #2 - = = .
M SENER 77 6.6 2 19 19 nES - 7 7 AE] #2 - - - - X1
N =\ 77 | 66 | 2 38 38 AEE - 18 18 Ra] #2 - = = .
FEN =H 77 22 2 57 57 naS -11 - - AE #1 - - - - X1
O BoTA 77 | 66 | 2 38 38 AEE - 16 16 Ra] #2 - = = .
o) BOFE 77 22 2 57 57 nES 0 - - AE #1 - - - - X1
P BEA 77 | 66 | 2 19 19 AEE - 8 0 Ra] #2 - = = .
#Q [11]m] 77 6.6 2 15 15 nES - 5 5 AE] #2 - - - - X1
s =] 77 | 66 | 2 38 38 AEE - 2 0 Ra] #2 - = = .
T Kithy 77 6.6 2 11 11 nES - 3 3 AE] #2 - - - - X1
0 =& 77 | 66 | 2 33 33 AEE - 2 ) Ra] #2 - = = .
U —& 77 | 22 | 2 28 28 AEE 3 = = Ta] # 1 - = = .
Y 3 77 | 66 | 2 38 38 AEE - 16 16 AT #2 - = = .
Hmw ZH 77 6.6 2 40 40 2 - 17 17 AE] #2 - - - - X1
Hmw ZH 77 22 2 57 57 E 2 -7 - - AE #1 - - - - X1
X I3 77 | 66 | 2 38 38 AER - 19 19 TE] #2 - = = .
X I3 7 | 2| 2 28 28 AER 0 = = TEl # 1 - = = .
g E=TES 77 | 66 | 2 38 38 = - 18 18 RE] #2 - = = .
#Hz 4R 22 6.6 2 11 11 iy - 1 1 AE] #2 - - - - X1
A A 77 | 66 | 2 38 38 = - 16 16 E] #2 - = = .
B xR 77 | 66 | 2 38 38 T - 19 19 TE] #2 - = = .
MAC FiR 77 6.6 3 47 47 iy - 9 9 AE] #2 - - - - X1
MAC FiR 77 22 2 57 57 E iy -4 - - AE #1 - - - - X1
FAD 78 77 6.6 3 57 57 BnES - 19 19 AE] #2 - - - - X1
TAE I 77 | 66 | 3 66 66 AER - 19 19 RE] #2 - = = .
AR L] 77 | 66 | 2 38 38 AER - 19 19 RE] #2 - = = .
FRAF Bi5 77 22 2 57 57 BnEE 1 - - AE #1 - - - - X2, 3
FAG F& 77 6.6 3 47 47 BnES - 8 8 AE] #2 - - - - X1
AR R 77 | 66 | 2 36 36 AER - 7 17 E] #2 - = = .
AR R 7 | 2| 2 % % AER 1 = = TE] # 1 - = = .
AL wr 77 | 66 | 2 38 38 AER - 18 18 TE] #2 - = = .
A ] 77 | 66 | 2 36 36 AER - 7 17 TE] #2 - = = .
TAK = 77 | 66 | 2 38 38 AER - 19 19 RE] #2 - = = .
FRAL E/R 77 6.6 2 34 34 BnES - 17 17 AE] #2 - - - - X1
TAM E] 77 | 66 | 2 38 38 = - 19 19 RE] #2 - = = .
AN FE 77 | 66 | 2 38 3 = - 19 19 RE] #2 - = = .
AN T 77 | 22 | 3 85 59 0 = = G 26 = = — [x2. 3
A0 i 77 6.6 2 36 36 - 17 17 AE] # 2 - - - - %1
A0 i 77 22 2 57 57 0 - - AE #1 - - - - 1
AP g 77 6.6 3 61 61 - 13 13 AE] # 2 - - - - %1
AP ol 77 | 22 | 1 28 28 3 = = TE] # 1 - = = E
#MAQ ZRE] 77 6.6 2 36 36 - 17 17 AE] # 2 - - - — %1
AR hvz(3 77 6.6 3 61 61 - 14 14 AE] # 2 - - - - 1
AR hvz(3 77 22 2 57 57 0 - - AE #1 - - - - X1
FAS =] 77 6.6 3 55 55 - 17 17 AE] # 2 - - - - X1
AT =l 77 6.6 2 36 36 - 17 17 AE] # 2 - - - - X1
AU KR 77 6.6 3 64 64 - 19 19 AE] # 2 - - - - %1
AU TR 77 | 22 | 1 28 28 3 = = TE] # 1 - = = E
AV |8 77 22 2 57 31 -6 - - ] 26 - - — X3
AW BI=] 77 6.6 2 19 19 - 7 7 AE] # 2 - - - - X1
FRAX HIR 77 6.6 3 61 61 - 13 13 AE] # 2 - - - - %1
FRAX HIR 77 22 2 57 57 -4 - - AE #1 - - - - %1
TAY TER 77 | 66 | 2 36 36 - 7 17 TE] #2 - = = .
WAZ e 77 | 66 | 2 38 38 - 19 19 TE] #2 - = = .
BA HE 77 6.6 3 52 52 - 14 14 AE] #2 - - - - X1
BB A 77 | 66 | 2 38 38 - 19 19 TE] #2 - = = .
#BC Nz 77 6.6 3 55 55 - 17 17 AE] #2 - - - - X1
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TBC (5 2| 2 57 ER = 3 = = B % = = — %3
8D TR 77 | 66 | 2 3 D = - 19 19 el # 2 - = = = %1
BE e 77 | 66 | 3 57 57 ] - 3 3 el %2 - = = = %1
TBF ] 77 | 66 | 3 76 76 = - 19 19 el # 2 - = = = %1
THBF ] 7 2| 2 57 57 ] 7 = = ] # 1 - = = = (%3
BG E 77 | 66 | 3 3 3 ] - 19 19 el %2 - = = = %1
WBH BUT 77 | 66 | 2 3 D ] - 19 19 el %2 - = = = %1
B ZE 77 | 66 | 2 3 3 ] - 8 18 el %2 - = = = %1
Ry = 77 | 66 | 2 57 57 = - % %8 el %2 - = = = %1
Ry = 77| 2 | 1 % % ] 0 = = ] # 1 - = = = %1
TBK B 77 | 66 | 3 2 2 = - 5 5 el # 2 - = = = %1
TBK BT 7 2| 2 8 ES ] 1 = = ] # 1 - = = = %1
L 0 77 | 66 | 3 57 57 ] - 19 19 el %2 - = = = %1
HBM = 77 | 66 | 3 55 55 ] - 7 7 el %2 - = = = %1
BN e 77 | 66 | 3 61 61 ] - 4 4 el %2 - = = = %1
BN e 7 2| 2 57 31 ] 2 = = G % = = = (%3
8O REI 77 | 66 | 3 55 55 ] - 7 7 el %2 - = = = %1
8O REI 7 2| 2 57 31 = 3 = = G % = = Y
wBP [T 77 | 66 | 2 3 D ] - 8 18 el %2 - = = = %1
WBQ FER 77 | 66 | 3 e 75 = - 4 4 el # 2 - = = = %1
BR EE 77 | 66 | 2 8 8 ] - 8 8 el %2 - = = = %1
BR wE 7 2| 2 ) G ] 1 = = G 3 = = Y
W8S H 77 | 66 | 3 66 66 = - 19 19 T # 2 - = = = %1
BT EREH 77 6.6 3 64 64 2 - 17 17 ] #2 - - - - %1
WBU ) 77 | 66 | 3 66 66 = - 19 19 T # 2 - = = = %1
#BU ==} 77 22 2 57 31 2 1 - - a] 26 - - - X3
BV e 77 | 66 | 2 3 D = - 19 19 T # 2 - = = = %1
TBW Fr=s 77 | 66 | 3 66 66 T - 19 19 T # 2 - = = = %1
TBW Fr=3 77 | 33 | 3 ES 62 T 0 = = G FE) = = = [%2.3
TBX w17 77 | 66 | 2 3 38 = - 8 18 T # 2 - = = = %1
#HBY =M 77 6.6 3 64 64 nES - 17 17 ] #2 - - - - %1
#HBY =M 77 22 2 71 71 nES 2 - - AE #1 - - - - %1
Bz EEIES 77 6.6 3 76 76 naS - 19 19 ] #2 - - - - %1
CA == 77 | 66 | 2 57 57 RER - % 28 T # 2 - = = = %1
CA == 77 33| 2 57 31 RER 3 = = G % = = E—
B 0] 77 | 66 | 2 73 73 RER - 21 21 T # 2 - = = = %1
CC e 77 | 66 | 3 66 66 RER - 19 19 T # 2 - = = = %1
F#CD BEE 77 | 66 | 2 E7) E7) RER - 3 3 T # 2 - = = = %1
CE Xl 77 | 66 | 2 8 8 RER - 8 8 T # 2 - = = = %1
TWCF R 77 | 66 | 3 76 76 RER - 19 19 T # 2 - = = = %1
CF R 77 | 33| 2 57 31 RER 2 = = G % = = E—
WCH T 77 | 66 | 2 3 D RER - 19 19 T # 2 - = = = %1
I & 77 33| 2 57 31 = 1 = = G % = = E—
#C) =k 77 6.6 3 57 57 E 2 - 19 19 ] #2 - - - - %1
WK R 77 | 66 | 2 3 38 RER - 19 19 T # 2 - = = = %1
WL T 77 | 66 | 3 2 2 RER - 7 7 T # 2 - = = = %1
WL T 7 | 33| 2 57 31 B 3 = = 7 % = = E—
#CM KA 77 6.6 3 61 61 iy - 14 14 ] #2 - - - - 1
WO TR 77 | 66 | 2 57 57 B - % 2 T # 2 - = = = %1
cp JEER 77 6.6 3 53 53 AR - 17 17 ] #2 - - - - 1
WCQ e 77 | 66 | 2 3 3 B - 16 16 T # 2 - = = = %1
WCQ BB 7 | 33| 2 57 31 RER 1 = = 7 % = = E—
FCR wE 7 | 33| 2 57 31 RER 1 = = 7 % = = E—
cs j=223 77 6.6 3 47 47 BES - 7 0 AE] #2 - - - - 1
T IE 77 | 66 | 2 19 19 RER - 8 8 T # 2 - = = = %1
WU BEE 77 | 66 | 2 3 3 RER - 17 17 T # 2 - = = = %1
eV *E 77 | 66 | 2 3% 3% RER - ] ] T # 2 - = = = %1
eV PY-) 7 2| 2 % % RER 5 = = T # 1 - = = = %1
W A 77 | 66 | 2 19 19 RER - 3 3 T # 2 - = = = %1
WX A 77 | 66 | 2 3 3 RER - 19 19 T # 2 - = = = %1
Cx [Sieain| 77 22 3 114 74 BnES 2 - - a] 40 - - - %2, 3
WY BEHE 77 | 66 | 2 3 3 RER - 17 17 T # 2 - = = = %1
fcz FH 77 6.6 3 57 57 BnES - 14 14 ] #2 - - - - 1
fcz FH 77 22 2 57 57 iy -5 - - AE #1 - - - - 1
DA all 77 6.6 3 57 57 iy - 18 18 ] #2 - - - - 1
#DB EE 77 6.6 3 57 57 - 17 17 ] #2 - - - - %1
#DC 28 77 6.6 2 40 40 - 19 19 ] #2 - - - - %1
#DD HK 77 6.6 3 51 51 - 13 13 ] #2 - - - - 1
#DD HK 77 22 2 57 57 0 - - AE #1 - - - - %1
DE 857 77 6.6 2 34 34 - 16 16 ] #2 - - - - %1
DE 857 77 22 1 14 14 0 - - el # 1 - - - - %1
FDF ;B 77 6.6 2 36 36 - 16 16 ] #2 - - - - 1
DG K& 77 6.6 2 38 38 - 18 18 ] #2 - - - - %1
DH B 77 6.6 2 38 38 - 19 19 ] #2 - - - - %1
DH B 77 22 1 14 14 0 - - el # 1 - - - - %1
DI SV 77 6.6 2 32 32 - 13 13 ] #2 - - - - %1
D] KF 77 6.6 2 38 38 - 18 18 ] #2 - - - - %1
DK HHE 77 | 66 | 2 3 R - 8 8 T # 2 - = = = %1
DL ERE 77 | 66 | 2 3 R - 8 8 T # 2 - = = = %1
DM HE 77 | 66 | 2 3 R - 19 19 T # 2 - = = = %1
DM A 77 22 2 57 57 1 - - el # 1 - - - - %1
DN P 77 | 66 | 2 3 R - 5 5 T # 2 - = = = %1
ET) =M 77 | 66 | 1 19 19 - 2 2 T # 2 - = = = %1
WDP e 77 | 66 | 3 3 R - 3 3 T # 2 - = = = %1
WDQ TEAAR 77 | 66 | 2 3 R - 7 7 T # 2 - = = = %1
DR IHE 77 6.6 1 19 19 - 18 18 ] #2 - - - - X1
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DR BT 2| 2 57 7 = 0 = = Re] # 1 = = = — %1
DS 77 | 66 | 2 3 D = - 16 16 el # 2 - = = = %1
DS 77 | 2 | 1 % % ] 2 = = ] # 1 - = = = %1
DT 77 | 66 | 3 51 51 = - 5 5 el # 2 - = = = %1
DT 77 | 2 | 1 % % ] 5 = = ] # 1 - = = = %1
DU 77 | 66 | 2 3 3 ] - 7 7 el %2 - = = = %1
DU 7 2| 2 ) % ] 1 = = ] # 1 - = = = %1
DV 2 | 66| 2 19 19 ] - 5 3 el %2 - = = = %1
FDW 77 | 66 | 2 19 19 = - 3 0 el %2 - = = = %1
DX 77 | 66 | 2 ES ES ] - 0 0 el %2 - = = = %1
DX 7 2| 2 ) G = 5 = = G 10 = = Y
DY 77 | 66 | 2 3 D ] - 2 0 el %2 - = = = %1
DY 77| 2 | 1 ) % ] 27 = = ] # 1 - = = = %1
D7 77 | 66 | 2 3% 3% ] - 5 5 el %2 - = = = %1
WEA 77 | 66 | 3 76 26 ] - 0 0 el %2 - = = = %1
WEA 7 2| 2 ) % ] 11 = = ] # 1 - = = = %1
WEB 77 | 66 | 3 3% 3% ] - 0 0 el %2 - = = = %1
WEC 77 | 66 | 2 7 3 = - 5 5 el %2 - = = = %1
WEC 7 2| 2 57 31 ] 2 = = G % = = = %1
WED 77 | 66 | 2 E7) E7) = - 0 0 el # 2 - = = = %1
THEE 7 2| 2 % % ] i = = ] # 1 - = = = %1
EF 3| 66 | 1 2 2 ] = 1 1 el %2 - = = = %1
WEG 2 | 66| 1 2 2 = = 2 2 T # 2 - = = = %1
WEH *F 2 | 66| 1 2 2 = = 1 1 T # 2 - = = = %1
EL e 2 | 66| 1 2 2 = = 2 2 T # 2 - = = = %1
ED =8 2 | 66| 1 2 2 = = 2 2 T # 2 - = = = %1
WEK W 2 | 66| 1 2 2 = = 1 1 T # 2 - = = = %1
EL * 2 | 66| 1 2 2 T = 2 2 T # 2 - = = = %1
THEM = 2 | 66| 1 2 2 T = 2 2 T # 2 - = = = %1
TEN e 2 | 66| 1 2 2 = = 1 1 T # 2 - = = = %1
WEO B 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
EP BE 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
WEQ TEE 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
WER E=a 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
TES E3 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
WET BER 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
TEU THR 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
WEV FEE 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
TEW ] 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
HEX ET 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
TEY [ 2 | 66| 1 2 2 RER = 1 1 T # 2 - = = = %1
WEZ R 2 | 66| 1 2 2 RER = 1 1 T # 2 - = = = %1
A GED 2 | 66| 1 2 2 = = 2 1 T # 2 - = = = %1
F) FE 2 | 66| 1 2 2 RER = 1 1 T # 2 - = = = %1
TWEC P 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
WD T 2 | 66| 1 2 2 RER = 1 1 T # 2 - = = = %1
TFE wa 2 | 66| 1 2 2 B = 1 1 T # 2 - = = = %1
FHFF =059 15 22 6.6 1 5 5 iy - 5 3 AE] #2 - - - - 1
WG EST] 2 | 66| 1 2 2 B = 2 2 T # 2 - = = = %1
W | SoUsHIS 2 | 66| 1 2 2 S = 1 1 T # 2 - = = = %1
F1 EALS 22 6.6 1 5 5 iy - 5 5 AE] #2 - - - - 1
F) piR/N=pi=1 22 6.6 1 5 5 E iy - 5 5 AE] #2 - - - - 1
K 5 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
E E 2 | 66| 1 2 2 RER = 1 0 T # 2 - = = = %1
M R 2 | 66| 1 2 2 RER = 2 0 T # 2 - = = = %1
N = 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
WO i3 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
TP 250 2 | 66| 1 2 2 RER = 0 0 T # 2 - = = = %1
WQ &S 2 | 66| 1 2 2 RER = 2 0 T # 2 - = = = %1
FFR BERR 22 6.6 1 5 5 BnEE - 5 5 AE] #2 - - - - 1
S RES 2 | 66| 1 5 5 RER = 5 0 T # 2 - = = = %1
T BEO 2 | 66| 1 2 2 RER = 2 2 T # 2 - = = = %1
MFU E=L)] 22 6.6 1 5 5 BnES - 5 5 AE] #2 - - - - X1
HFV BEERIS 22 6.6 1 5 5 iy - 5 5 AE] #2 - - - - 1
HFW BER2S 22 6.6 1 5 5 iy - 5 5 AE] #2 - - - - 1
FHFX AERSS 22 6.6 1 5 5 - 5 5 ] #2 - - - - %1
Y EERIS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
Wz EER2S 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
FGA AER6S 22 6.6 1 5 5 - 5 5 ] #2 - - - - %1
TWGB EERIS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
GC HEERIS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
FGD EERS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
TGE EERSS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
TGE EETGS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
GG EEERZS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
GH HEERIS 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
FGI 22 6.6 1 5 5 - 5 5 ] #2 - - - - %1
G 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
FGK 33 6.6 1 5 5 - 5 5 ] #2 - - - - %1
#GL 22 6.6 1 5 5 - 5 5 ] #2 - - - - %1
M 2 | 66| 1 2 2 = 2 2 T # 2 - = = = %1
FGN 33 6.6 1 5 5 - 5 5 ] #2 - - - - X1
GO 3| 66 | 1 5 5 = 5 5 T # 2 - = = = %1
WGP 2 | 66| 1 2 2 = 1 0 T # 2 - = = = %1
GQ 2 | 66| 1 2 2 = 2 0 T # 2 - = = = %1
TGR 2 | 66| 1 2 2 = 2 0 T # 2 - = = = %1




12/36

T
ZEA s B @) " BAEE ERSEE | EmEsE . =5 G N-1285ER | N-1%4) ST ;?ziﬁgggf
No S BE | (o0vmxat) | (Mw) AgmE | s EpTss | TOPE0 il &
= LR | HORSES FIRElE & ffg
TGS =% 22 | 66 | 1 2 2 = = 1 0 el # 2 = = = — %1
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F0s B 77 6.6 2 38 38 - 15 15 ] #2 - - - - %1
i Eis)iiil= 77 6.6 3 38 38 - 6 6 ] #2 - - - - 1
Fu FOFRL 77 6.6 2 38 38 - 18 18 ] #2 - - - — %1
Fu FOFRL 77 33 2 57 57 -6 - - el # 1 - - - - %1
v BARE] 77 6.6 3 57 57 - 18 18 ] #2 - - - — %1
AW = 77 | 66 | 2 3 3 - 8 0 T # 2 - - - %1
X WAt 77 | 66 | 2 3 E3 - 0 0 T # 2 - - - %1
Fx IS 77 33 1 14 14 1 - - el # 1 - - - - %1
v =5 77 | 66 | 2 3 E3 - 9 0 T # 2 - - - %1
Fy ESE) 77 33 1 14 14 0 - - el # 1 - - - - %1
Fz = 77 6.6 2 28 28 - 14 0 ] #2 - - - - %1
FAA FF 77 6.6 3 47 47 - 9 0 ] #2 - - - - %1
TIAB YL 77 | 66 | 2 3 E3 - 9 0 T # 2 - - - %1
FIAC K 77 | 66 | 2 3 E3 - 7 0 T # 2 - - - %1
FIAD B 77 6.6 2 38 38 - 19 0 ] #2 - - - - %1
FIAD b= 77 33 2 57 57 0 - - el #1 - - - - X1
FAE EE 77 6.6 2 34 34 - 15 0 ] #2 - - - - X1
FOAF [ 77 6.6 1 19 19 - 12 12 ] #2 - - - - X1
HIAG e 77 | 66 | 3 5 5 - 5 0 T # 2 - - - %1
FIAH i 77 | 66 | 2 3 E3 - 8 0 T # 2 - - - %1
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AR B 771 33| 2 57 7 = =T = = Re] # 1 = = = — %1
AT T 77 | 66 | 2 3 D = - 16 0 el # 2 - = = = %1
FIAI B 77 | 66 | 1 19 19 ] - G 0 el %2 - = = = %1
FIAI B 77| 33 | 1 ) 4 = 13 = = ] # 1 - = = = %1
FIAK HE 3| 66 | 2 11 1 ] - 7 7 el %2 - = = = %1
FIAL = 3| 66 | 1 5 5 ] - 2 0 el %2 - = = = %1
FIAM 2B 3| 66 | 2 11 1 ] - 1 0 el %2 - = = = %1
FIAN T2 77 | 66 | 3 % % ] - 7 0 el %2 - = = = %1
FIAO B 77 | 66 | 2 ES) Ex) = - 3 0 el %2 - = = = %1
FIAO B 77| 33 | 1 ) 4 ] % = = ] # 1 - = = = %1
AP = 77 | 66 | 2 ) % = - 8 0 el # 2 - = = = %1
AP = 77 | 33 | 1 ) 4 ] 0 = = ] # 1 - = = = %1
FIAQ 5% 77 | 66 | 3 3 3 ] - 6 0 el %2 - = = = %1
AR [ 77 | 66 | 2 7 7 ] - 1 0 el %2 - = = = %1
FIAS 3| 66 | 2 19 19 ] - 7 7 el %2 - = = = %1
AT 77 | 66 | 2 3 D ] - 2 0 el %2 - = = = %1
AT 77| 33| 2 57 31 ] 31 = = G % = = = (%3
FIAU 77 | 66 | 3 57 57 = - 3 0 el %2 - = = = %1
FIAV 3| 66 | 2 11 1 ] - 2 0 el %2 - = = = %1
FIAV 77| 33 | 1 19 19 = 19 = = ] # 1 - = = = %1
AW C 3| 66 | 1 2 2 ] - 1 0 el %2 - = = = %1
FIAX E] 77 | 66 | 2 19 19 ] - 5 0 el %2 - = = = %1
FIAY EE 77 | 66 | 2 19 19 = - 7 0 T # 2 - = = = %1
FIAZ 5= 77 | 66 | 2 % % = - 9 0 T # 2 - = = = %1
FIBA =) 77 | 66 | 3 76 26 = - 8 0 T # 2 - = = = %1
BB HED 77 | 66 | 2 3 D = - 16 0 T # 2 - = = = %1
BB HED 77 33| 2 ES 8 = 28 = = T # 1 - = = = %1
FIBC TS 77 | 66 | 1 9 9 T - 9 0 T # 2 - = = = %1
F0BC A 77 33 1 14 14 ABE -12 - - e #1 - - - - %1
FIBD BR 77 | 66 | 2 19 19 = - 7 0 T # 2 - = = = %1
HIBE T 77 | 66 | 2 3 D FE - 17 0 T # 2 - = = = %1
FIBF il 3| 66 | 2 11 11 RER - 7 0 T # 2 - = = = %1
FIBG AER 3| 66 | 2 11 11 RER - 1 0 T # 2 - = = = %1
FIBH E=Y 77 | 66 | 2 3 38 RER - G 0 T # 2 - = = = %1
FIBH E=Y 77 33| 2 % % RER 3 = = T # 1 - = = = %1
FBIL T 77 | 66 | 2 19 19 RER - 7 0 T # 2 - = = = %1
FBIL T 77 | 33 | 1 % % RER 5 = = T # 1 - = = = %1
718 it 77 | 66 | 2 19 19 RER - 8 0 T # 2 - = = = %1
FIBK s 77 | 66 | 2 19 19 RER - 6 0 T # 2 - = = = %1
FBK %3] 77 33 2 42 15 nES 0 - - AE #1 - - - - %1
HBL e 77 | 66 | 2 19 19 FE - 7 0 T # 2 - = = = %1
FIBM wE 77 | 66 | 2 3 D RER - 8 0 T # 2 - = = = %1
#0BM = 77 33 2 85 47 2 -11 - - a] 38 - - - X3
BN =H 33 6.6 2 11 11 E 2 - 1 1 AE] #2 - - - - %1
78O P 3| 66 | 2 19 19 RER - 9 3 T # 2 - = = = %1
8P RERE 3| 66 | 2 19 19 RER - 2 2 T # 2 - = = = %1
#BQ EEL 3| 66 | 2 11 1 B - 2 2 T # 2 - = = = %1
F0BS P70r=} 33 6.6 1 5 5 iy - 4 1 AE] #2 - - - - 1
BT FUEL 3| 66 | 1 2 2 B = 2 2 T # 2 - = = = %1
FIBU e 3| 66 | 1 2 2 S = 2 2 T # 2 - = = = %1
FBV == 3| 66 | 1 2 2 B = 1 1 T # 2 - = = = %1
FBW e 3| 66 | 1 2 2 RER = 2 2 T # 2 - = = = %1
FIBX Sl 33 6.6 1 5 5 BnES - 5 4 AE] #2 - - - - X1
TIBY TR 3| 66 | 1 5 5 RER = 7 0 T # 2 - = = = %1
TBZ ARE 3| 66 | 1 2 2 RER = 2 2 T # 2 - = = = %1
FICA P 3| 66 | 1 2 2 RER = 1 1 T # 2 - = = = %1
FiCB = 3| 66 | 1 2 2 RER = 1 0 T # 2 - = = = %1
FCC | XU—F55<18 | 33 | 66 | 1 2 2 RER = 2 0 T # 2 - = = = %1
D | XU—FS5<28 | 33 | 66 | 1 2 2 RER = 2 0 T # 2 - = = = %1
FICE = 3| 66 | 1 2 2 RER = 2 0 T # 2 - = = = %1
HICF E 3| 66 | 1 2 2 RER = 2 0 T # 2 - = = = %1
7ICG TE 3| 66 | 1 2 2 RER = 2 0 T # 2 - = = = %1
FICH T 3| 66 | 1 2 2 RER = 2 2 T # 2 - = = = %1
FcT 2N 3| 66 | 1 2 2 B = 2 0 T # 2 - = = = %1
FICI e 3| 66 | 1 2 2 B = 1 0 T # 2 - = = = %1
FICK B 3| 66 | 1 2 2 = 2 0 T # 2 - = = = %1
FocL B5A] 33 6.6 1 5 5 - 2 0 ] #2 - - - - %1
FIcMm =0l 33 6.6 1 5 5 - 4 0 AE] # 2 - - - - 1
FICN =] 3 | 66 | 1 2 2 = 2 0 T # 2 - = = = %1
FICO BoIE 3 | 66 | 1 2 2 = 2 0 T # 2 - = = = %1
TP *= 3 | 66 | 1 2 2 = 2 0 T # 2 - = = = %1
FICQ g 3 | 66 | 1 2 2 = 0 0 T # 2 - = = = %1
FICR EZ] 3 | 66 | 1 2 2 = 1 0 T # 2 - = = = %1
Focs =l 33 6.6 1 5 5 - 3 0 ] #2 - - - - %1
FcT &)1 33 6.6 1 2 2 - 0 0 ] #2 - - - - %1
Focu HES 33 6.6 1 5 5 - 2 0 ] #2 - - - - %1
FCV ETH 3 | 66 | 1 2 2 = 1 0 T # 2 - = = = %1
Ficw [ 33 6.6 1 5 5 - 5 0 ] #2 - - - - %1
FICcx & 33 6.6 1 5 5 - 5 0 ] #2 - - - - %1
FICY EEm 3 | 66 | 1 2 2 = 2 2 T # 2 - = = = %1
focz BTE 33 6.6 1 5 5 - 5 0 ] #2 - - - - %1
FIDA EE 3| 66 | 1 5 5 = 5 0 T # 2 - = = = %1
7IDB TR 3| 66 | 1 2 2 = 1 0 T # 2 - = = = %1
FIDC i 3| 66 | 1 2 2 = 0 0 T # 2 - = = = %1
FIDD R 3| 66 | 1 2 2 = 1 0 T # 2 - = = = %1
FIDE [ 3| 66 | 1 2 2 = 1 0 T # 2 - = = = %1
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FIDF 3] 66 | 1 2 2 = = 1 0 el # 2 = = = — %1
FIDG 3| 66 | 1 2 2 = = 0 0 el # 2 - = = = %1
TEA 3| 66 | 2 19 19 ] - 5 5 el %2 - = = = %1
1B 77 | 66 | 2 3 D = - 8 1 el # 2 - = = = %1
TEC 3| 66 | 2 19 19 ] - 5 5 el %2 - = = = %1
) 3| 66 | 1 2 2 ] - 0 0 el %2 - = = = %1
TEE 77 | 66 | 2 19 19 ] - 5 1 el %2 - = = = %1
TEE 77| 33| 2 57 31 ] 2 = = G % = = = (%3
TG 77 | 66 | 2 3 D = - 19 1 el %2 - = = = %1
TR 3| 66 | 2 11 1 ] - 7 7 el %2 - = = = %1
T 77 | 66 | 2 3 D = - 7 7 el # 2 - = = = %1
T 77 | 33 | 1 % % ] 15 = = ] # 1 - = = = %1
1 77 | 66 | 2 19 19 ] - 7 7 el %2 - = = = %1
TEK 77 | 66 | 2 19 19 ] - 8 8 el %2 - = = = %1
TEL 3| 66 | 2 19 19 ] - 8 8 el %2 - = = = %1
TEM 3| 66 | 2 15 G ] - 5 5 el %2 - = = = %1
TEN 77 | 66 | 2 19 19 ] - 8 8 el %2 - = = = %1
TEN 77 33| 2 57 31 = 1 = = G % = = Y
15O 3| 66 | 2 11 1 ] - 3 3 el %2 - = = = %1
1P 77 | 66 | 2 3 D = - 16 16 el # 2 - = = = %1
1EQ 77 | 66 | 2 8 8 ] - 6 3 el %2 - = = = %1
TR 77 | 66 | 2 19 19 ] - 7 7 el %2 - = = = %1
1ER 77 33 1 14 14 2 -5 - - AE #1 - - - - %1
1S 77 | 66 | 2 Ex) EE) = - 11 1 T # 2 - = = = %1
1S 77 | 33 | 1 9 9 = 3 = = T # 1 - = = = %1
BT 77 6.6 2 19 19 2 - 4 4 ] #2 - - - - %1
15U 77 | 66 | 2 E7) E7) = - 9 7 T # 2 - = = = %1
15U 77 | 33 | 1 % % T 5 = = T # 1 - = = = %1
1BV 77 | 66 | 2 27 27 T - 0 0 T # 2 - = = = %1
EW 77 6.6 3 57 57 2 - 10 10 ] #2 - - - - %1
EW 77 33 2 57 31 nES -34 - - a] 7 - - - X3
TEX 77 | 66 | 2 27 27 RER - 3 0 T # 2 - = = = %1
TEY 77 | 66 | 2 19 19 RER - 5 0 T # 2 - = = = %1
1z 77 | 66 | 2 19 19 RER - 3 3 T # 2 - = = = %1
1z 77 | 33 | 1 % % RER 28 = = T # 1 - = = = %1
TEAA =5 RUX 77 | 66 | 2 3 D RER - 9 5 T # 2 - = = = %1
TEAA =5 RUX 77 | 33 | 1 % % RER 19 T # 1 - = = = %1
TEAB =TS 77 | 66 | 2 3 D RER - 10 10 T # 2 - = = = %1
TEAC T 77 | 66 | 2 3 D RER - 16 0 T # 2 - = = = %1
1EAC izt 7+ 77 33 1 14 14 nES -5 - - AE #1 - - - - %1
1EAD =3 77 6.6 2 19 19 nES - 4 4 AE] #2 - - - - %1
TEAE 5 77 | 66 | 3 3 D RER - 0 0 T # 2 - = = = %1
1EAF JEEF 77 6.6 3 57 57 2 - 3 3 ] #2 - - - - %1
1EAF JEEF 77 33 2 47 47 E 2 0 - - AE #1 - - - - X1
TEAG ) 77 | 66 | 3 52 52 RER - 9 5 T # 2 - = = = %1
TEAG =) 7 | 33| 2 % 15 RER 0 = = 7 3 = = E—
TEAH ERE 77 | 66 | 3 57 57 B - 0 0 T # 2 - = = = %1
1EAH fiichzz:L 53 77 33 2 57 57 iy -13 - - el # 1 - - - - 1
TEAT i 77 | 66 | 2 3 3 B - 6 6 T # 2 - = = = %1
TEAT i 7 2| 2 % % S = = = T # 1 - = = = %1
TEAD = 77 | 66 | 2 3 3 B - 3 3 T # 2 - = = = %1
TEAD = 7| 2 | 1 % % RER 23 = = T # 1 - = = = %1
TEAK i 77 | 66 | 2 3 38 RER - 7 7 T # 2 - = = = %1
TEAL ET 77 | 66 | 2 3 3 RER - 6 6 T # 2 - = = = %1
TEAM PV 77 | 66 | 3 3 3 RER - 1 1 T # 2 - = = = %1
IEAN BEEF 77 6.6 3 57 57 BnEE - 16 16 ] #2 - - - - 1
TEAN T 7 | 33| 2 2 2 RER 0 = = T # 1 - = = = %1
TEAO T 77 | 66 | 2 3 3 RER - ] ] T # 2 - = = = %1
TEAP =3 77 | 66 | 2 19 19 RER - 2 0 T # 2 - = = = %1
TEAP =3 77 | 33 | 1 % % RER 16 = = T # 1 - = = = %1
1EAQ Tl 77 | 66 | 3 3 38 RER - 2 2 T # 2 - = = = %1
TEAR > 77 | 66 | 2 3% 3% RER - 17 17 T # 2 - = = = %1
TEAS ES 77 | 66 | 2 3 3 RER - 3 3 T # 2 - = = = %1
1EAS = 77 33 2 57 57 iy 0 - - AE #1 - - - - 1
WEAT =K 77 6.6 3 47 47 iy - 3 3 ] #2 - - - - 1
1EAU &H 77 6.6 1 19 19 - 15 15 ] #2 - - - - %1
TEAV T 77 | 66 | 2 3 R - 9 0 T # 2 - = = = %1
IEAV iz 77 33 2 57 57 -12 - - el # 1 - - - - 1
EAW i 77 6.6 2 38 38 - 17 0 ] #2 - - - - %1
EAW i 77 33 1 28 28 -1 - - el # 1 - - - - %1
IEAX BT 33 6.6 2 11 11 - 2 2 ] #2 - - - - %1
EAY SRA 77 6.6 2 36 36 - 16 16 ] #2 - - - - 1
TEAY R 7 | 33| 2 57 31 7 = = G % = = E—
TEAZ B 77 | 66 | 2 3 R - 1 1 T 2 - = = = %1
TEAZ B 7 | 33| 2 % % 0 = = T # 1 - = = = %1
1EBA g 77 6.6 3 57 57 - 13 13 ] #2 - - - - %1
TEBA TR 7 2| 2 % 5 5 = = G 3 = = E—
1EBB e 77 6.6 2 38 38 - 17 17 ] #2 - - - - %1
1588 TE 7 | 33| 2 % 5 0 = G 3 = = E—
TEBC Tz 33| 66 | 2 19 19 - 6 0 T 2 - = = = %1
1EBD p-Am] 77 6.6 2 38 38 - 11 7 ] #2 - - - - %1
1EBD b1 77 33 2 57 57 -2 - - el #1 - - - - X1
TEBE 28 77 | 66 | 2 % % - 8 7 T # 2 - = = = %1
1EBE 25 77 33 1 28 28 -7 - - el #1 - - - - X1
TEBF 5 77 | 66 | 2 3 R - 3 3 T # 2 - = = = %1
1EBG Wt 77 | 66 | 2 3 R - 19 19 T # 2 - = = = %1
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EE 3 77 | 66 | 2 38 38 ] = 9 9 o] #2 = - - = %1
TEBI TR 77 | 66 | 2 3 D = - 19 19 el # 2 - = = = %1
18] % 77 | 66 | 2 E7) E7) ] - 10 10 el %2 - = = = %1
TEBK L] 77 | 66 | 3 57 57 = - 19 19 el # 2 - = = = %1
TEBK L] 77 | 33 | 1 % % ] 1 = = ] # 1 - = = = %1
TEBL P 77 | 66 | 2 3 3 ] - 7 7 el %2 - = = = %1
TEBM i 77 | 66 | 3 8 78 ] - 4 0 el %2 - = = = %1
TEBM i 77| 33| 2 % % ] 0 = = ] # 1 - = = = %1
TEBN = 77 | 66 | 2 3 D = - 19 0 el %2 - = = = %1
1EBO L3 77 | 66 | 3 57 57 ] - 2 0 el %2 - = = = %1
1EBO L3 77| 33 | 1 ) % = 5 = = ] # 1 - = = = %1
TEBP R 77 | 66 | 2 3 D ] - 8 18 el %2 - = = = %1
1EBQ T 77 | 66 | 2 3 3 ] - 5 5 el %2 - = = = %1
1EBQ T 7 2| 2 e 75 ] 0 = = ] # 1 - = = = %1
TEBR T 77 | 66 | 2 3 3 ] - 18 18 el %2 - = = = %1
1EBS e 77 | 66 | 3 77 77 ] - 5 5 el %2 - = = = %1
TEBT =E 77 | 66 | 2 3 3 ] - 8 18 el %2 - = = = %1
1EBU R 77 | 66 | 2 3 D = - G G el %2 - = = = %1
TEBV (=] 77 | 66 | 2 3% 3% ] - 7 7 el %2 - = = = %1
TEBV (5] 77 33| 2 19 19 = 0 = = ] # 1 - = = = %1
TEBW T 77 | 66 | 2 19 19 ] - 5 5 el %2 - = = = %1
TEBX TmER 77 | 66 | 3 55 55 ] - G 0 el %2 - = = = %1
1EBX PR 77 22 2 57 57 2 -9 - - AE #1 - - - - %1
TEBY WEs 77 | 66 | 2 3 D = - 8 18 T # 2 - = = = %1
1EBY BES 77 22 2 57 57 2 0 - - AE #1 - - - - %1
1EBZ [ 77 | 66 | 2 19 19 = - 9 5 T # 2 - = = = %1
1EBZ T 77 | 33 | 1 % % RER 0 = = T # 1 - = = = %1
1ECA *= 77 6.6 3 55 55 nES - 1 1 AE] #2 - - - - %1
1ECA EH 77 33 1 14 14 nES -4 - - AE #1 - - - - %1
TECC ) 77 | 66 | 2 % % = - 3 3 T # 2 - = = = %1
TECD == 77 | 66 | 2 3 D RER - ) 4 T # 2 - = = = %1
TECE N 77 | 66 | 2 3 D RER - 8 18 T # 2 - = = = %1
1ECE pIESI 77 22 2 57 57 naS -9 - - AE #1 - - - - %1
1ECF =i 77 6.6 3 57 57 nES - 7 7 AE] #2 - - - - %1
1ECG G 77 | 66 | 2 3% 3% RER - 17 17 T # 2 - = = = %1
BECH 2= 77 | 66 | 2 3 D RER - 17 17 T # 2 - = = = %1
TECT O 77 | 66 | 2 3 D RER - 19 19 T # 2 - = = = %1
TECT O 77 2| 2 % % RER 0 = = T # 1 - = = = %1
1EC) RO 77 | 66 | 2 3 D RER - 19 19 T # 2 - = = = %1
TECK & 77 | 66 | 2 3 D RER - 8 18 T # 2 - = = = %1
TECK = 77 2| 2 % % RER 2 = = T # 1 - = = = %1
1ECL FES 77 6.6 3 55 55 naS - 10 10 ] #2 - - - - %1
TECM —& 77 | 66 | 2 3 38 = - 19 19 T # 2 - = = = %1
TECN R 77 | 66 | 2 3 38 RER - 19 19 T # 2 - = = = %1
TECN B 7 | 2 | 1 % % RER 1 = = T # 1 - = = = %1
1ECO F=) 77 | 66 | 2 3 3 RER - 17 17 T # 2 - = = = %1
1ECO F=) 7 2| 2 % % B 0 = = T # 1 - = = = %1
TECP B 3| 66 | 1 5 5 B - 5 3 T # 1 - = = = %1
1ECQ ] 3| 66 | 1 2 2 B - 2 2 T # 1 - = = = %1
TECR == 3| 66 | 1 9 9 S - 6 5 T # 1 - = = = %1
TECT A 3| 66 | 1 2 2 B - 0 0 T # 1 - = = = %1
TECU ez 3| 66 | 2 5 5 RER - 0 0 T # 1 - = = = %1
TECV i 3| 66 | 2 5 5 RER - 1 0 T # 1 - = = = %1
TECW E7 3| 66 | 2 11 1 RER - 0 0 T # 1 - = = = %1
BECX TR — 3| 66 | 1 2 2 RER - 1 1 T # 1 - = = = %1
TECY Il 3| 66 | 2 19 19 RER - 7 7 T # 1 - = = = %1
TECZ HE 3| 66 | 2 5 5 RER - 0 0 T # 1 - = = = %1
JEDA SRTE 3| 66 | 1 2 2 RER = 2 2 T # 1 - = = = %1
TEDB A 3| 66 | 1 2 2 RER = 2 2 T # 1 - = = = %1
TEDC P 3| 66 | 1 2 2 RER = 2 2 T # 1 - = = = %1
TEDD ey 3| 66 | 1 2 2 RER = 2 1 T # 1 - = = = %1
TEDE WE 3| 66 | 1 5 5 RER = 0 0 T # 1 - = = = %1
1EDF hv2 =) 33 6.6 1 5 5 BnES - 5 5 AE #1 - - - - X1
1EDG BR 33 6.6 1 5 5 iy - 5 5 AE #1 - - - - 1
TEDH T 3| 66 | 1 2 2 B = 2 2 T # 1 - = = = %1
1EDI = 3| 66 | 1 2 2 = 2 2 T # 1 - = = = %1
1ED) TATE 3 | 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEDK T 3 | 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEDL ) 3 | 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEDM e 3 | 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEDN wa 3 | 66 | 1 2 2 = 2 2 T # 1 - = = = %1
1ED0 =% 3 | 66 | 1 2 2 = 2 2 T # 1 - = = = %1
1EDP TSR 1 33 6.6 1 2 2 - 2 2 el # 1 - - - - X1
1EDQ 351 3 | 66 | 1 2 2 = 0 0 T # 1 - = = = %1
#EDR TE 33 6.6 1 2 2 - 0 0 el # 1 - - - - %1
EDS BA 33 6.6 1 2 2 - 0 0 el # 1 - - - - %1
WEDT Al 33 6.6 1 2 2 - 0 0 AE #1 - - - - %1
BEDU bR 33 6.6 1 2 2 - 0 0 el # 1 - - - - %1
TEDV wE 3 | 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEDW B 3 | 66 | 1 2 2 = 1 1 T # 1 - = = = %1
TEDX =N 3 | 66 | 1 2 2 = 2 0 T # 1 - = = = %1
TEDY RS 3| 66 | 1 2 2 = 2 2 T # 1 - = = = %1
1EDZ B 3| 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEEA == 3| 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEEB =) 3| 66 | 1 2 2 = 2 2 T # 1 - = = = %1
TEEC EEE L 3| 66 | 1 2 2 = 2 2 T # 1 - = = = %1
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[ IEED B 33 | 66 | 1 5 5 ] - 5 5 el # 1 = - - = %1
UBEE =& 3| 66 | 1 2 2 =) - 2 2 A # 1 - = = = %1
TBEF o 3| 66 | 1 2 2 =) - 1 0 A # 1 - = = = %1
1BEG S 3| 66 | 1 2 2 =) - 1 0 A # 1 - = = = %1
YBEH W= 3| 66 | 1 2 2 =) - 0 0 A # 1 - = = = %1
YBET VR 3 | 66 | 1 2 2 =) - 0 0 7 # 1 - = = = %1
YEED 5 E 3| 66 | 1 2 2 =) - 2 0 A # 1 - = = = %1
TBEK R 3 | 66 | 1 2 2 =) - 0 0 7 # 1 - = = = %1
TBEL PiES 22 | 66 | 1 2 2 =) - 1 1 A # 1 - = = = %1
YEEM 0 22 | 66 | 1 2 2 = - 1 1 A # 1 - = = = %1
TBEN E 22 | 66 | 1 5 5 =) - 5 5 A # 1 - = = = %1
1BEO R 22 | 66 | 1 2 2 =) - 1 1 A # 1 - = = = %1
TBEP = 22 | 66 | 1 2 2 = - 1 1 7 # 1 - = = = %1
1BEQ EHE 22 | 66 | 1 2 2 =) - 2 2 A # 1 - = = = %1
TBER AKX 22 | 66 | 1 2 2 = - 2 2 7 # 1 - = = = %1
1BES B 22 | 66 | 1 2 2 =) - 0 0 A # 1 - = = = %1
WBET REA 22 | 66 | 1 2 2 =) - 2 2 7 # 1 - = = = %1
1BEU T 22 | 66 | 1 2 2 =) - 2 2 A # 1 - = = = %1
TEEW =% 22 | 66 | 1 2 2 =) - 0 0 A # 1 - = = = %1
TBEX B 22 | 66 | 1 2 2 =) - 2 1 A # 1 - = = = %1
TBEY 0 22 | 66 | 1 2 2 =) - 0 0 A # 1 - = = = %1
1BEZ R 22 | 66 | 1 2 2 =) - 0 0 7 # 1 - = = = %1
BFL | 2m G 77 | 66 | 2 38 38 = - 19 19 Ra] # 2 - = = = %1
JEF1 2 (FrEas) 77 33 1 28 28 2 -1 - - o] #1 - — — — %1
1EF2 | BfE (BZ4RXK) 77 6.6 1 9 9 2 - 9 1 o] #2 - — — — %1
BF2 | =M @ELEA) | 77 | 33 | 1 28 28 = 0 - - e # 1 - = = = %1
TBFA =it 22 | 66 | 1 2 2 = - 0 0 e # 1 - = = = %1
1EFB =EST 22 | 66 | 1 2 2 WER - 0 0 e # 1 - = = = %1
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35 RILFER(RSTA) 77 1 80 80 DH-BIRR 0 — — AE] # 1 - — — —
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36 SEXR 77 1 78 78 DH-BRR 0 — — Fa] #1 - — — — %1
37 cRILITR - BOESIAR 77 1 156 156 FEwRI—>DH -146 — — e #1 - — — — %1
38 HZRESEMR 77 1 30 30 DI-FAM 6 — — Fa] #1 - — — — %1
39 77 1 60 66 DI=FAW 7 — — e #1 - — — — %1
340 BURERHR 77 1 72 72 DI-FAW 7 — — Fa] #1 - — — — %1
41 Pz RBIVEER 77 1 79 79 DA—FIAL 17 — — e #1 - — — — %1
42 HER 77 1 86 94 DA—TIAG 5 — — & 86 — — — %4
343 BIEE 77 1 62 68 DA—3LEZ 6 — — e #1 - — — — %1
44 BIEEIR 77 1 68 75 DA—3tEZ 6 — — Fa] #1 - — — — %1
345 iR 77 1 117 117 DA—TIAC 4 — — e #1 - — — — %1
346 A8 77 1 56 56 FAAASBIRUR 0 - - Fa] #1 - — — — %1
47 SBREER 77 1 55 55 CU—TIAA 2 — — e #1 - — — — %1
348 REFHR 77 2 53 29 DA—TIAH 6 — — Re] #2 - — — — %4
49 EEEEED 77 2 137 75 DA—FIAL 17 — — a] 61 — — — x4
50 SRR - BRIR 77 3 157 57 DA—FIAQ 11 — — & 42 — — — %4
51 Elis i 77 1 56 56 DA-BIRES 0 — — e #1 - — — — %1
52 EE] 77 1 68 68 DA-BRS 0 — — Fa] #1 - — — — %1
53 KEPIFR 77 1 88 88 DC—BC 5 — — e #1 - — — — %1
54 PR 77 1 46 46 DC—FIBE 9 — — Fa] #1 - — — — %1
55 ERFR 77 3 95 34 DA—TIAR 1 — — A #2 - — — — x4
56 EEER 77 1 43 43 DA—FIAQ 10 — — Fa] #1 - — — — %1
57 EBEBFLR 77 1 62 62 DA—TIAX 8 — — e #1 - — — — %1
58 IR 77 1 93 93 FAAXBIRUR 0 - - Fa] #1 - — — — %1
59 TEERR 77 2 283 155 DE—FIZ 5 — — a] 127 — — — x4
360 IRAR 77 2 63 35 DE—FAB 6 — — a 28 — — — %4
362 BB 77 2 - - - DE-BIff - — — - - — — — O
63 _ERBTR 77 2 68 37 DE—-FIAV -9 — — ] 30 — — — %4
64 SIS 77 2 68 34 DE—AD 3 — — a] 34 — — — %4
65 IXEHR 77 1 - - - FEAEAV - - - - - - - - <
66 cRIE PSR 77 2 205 113 DE—>fIBF 11 — — a] 92 — — — %4
67 MESR 77 2 66 36 DE-FIAS 2 — — i 30 — — — %4
68 R BXR 77 2 211 116 DE—FIAU 2 — — a] 94 — — — %4
69 T\ERHSMBR 77 2 171 94 FABF RS 4 — — & 76 — — — %4
70 ] 77 2 68 37 DE—>fB) 4 — — a] 30 — — — %4
71 RER 77 1 48 48 DH—ILE) 5 — — RE] #1 = — — — %1
72 GV 77 2 175 96 DH—4EEL 10 — — a] 78 — — — %4
73 FOREE LR 77 2 237 130 DH—1LEG 24 — — & 106 — — — %4
74 AR 77 2 362 199 DH-RIAY 3 — — a] 162 — — — %4
75 EKEBIR 77 1 - - DH—>SEEA - — — - - — - - <
76 =ER 77 2 184 101 DD-BIRR 0 — — a] 83 — — — %4
w77 BEXIR 77 2 184 92 DD—>#BL 5 — — ] 92 — — — %4
78 FEZR 77 2 119 65 DD-FIBA -7 — — a] 53 — — — %4
79 EHRR 77 2 66 36 DD—#IAJ 2 — — & 29 — — — %4
380 RETR 77 2 109 60 DD->FBO 5 — — a] 49 — — — %4
81 1D 77 2 51 28 DD-FBV 2 — — & 23 — — — %4
82 EER 77 2 154 84 DD-BIRR 0 — — a] 69 — — — %4
83 ERRIR 77 2 118 65 DD->FIBL 2 — — & 53 — — — %4
84 B 77 2 109 60 DD—-RIAT 5 — — a] 49 — — — %4
85 [T AR 77 2 58 32 DD—FBR 6 — — & 26 — — — %4
86 MERIR 77 2 104 57 DD->CH 8 — — a] 46 — — — %4
87 SHIR 77 2 125 68 DD-FIBX 1 — — o] 56 — — — x4
88 N\RBIHER 77 2 142 78 DD-BIRR 0 — — a] 64 — — — %4
89 TR 77 2 118 65 DD—FBW 1 — — o] 53 — — — x4
90 T B 77 2 77 42 DD-@C) 1 — — a] 34 — — — %4
91 LLAR 77 1 56 61 DC—FBB 7 — — Ra] # 1 = — — — %1
92 \LIRESETER 77 1 33 36 DC—FBB 7 — — a] #1 - — — — %1
93 [EEHTER 77 1 88 97 DC—TBG 7 — — FaE] #1 - — — — % 1
94 KEA R 77 1 81 81 DC—FBP 16 — — a] #1 - — — — %1
95 S EEESR 77 1 67 67 MBP—FIBK 6 - — AE #1 - — — — %1
96 SR 77 1 98 98 FEBK-BIR 0 — — a] #1 - — — — %1
97 HAEERIEERR 22 1 12 12 FIBK—RAR 0 - — AE #1 - - - - %1
98 HIRT LESR 22 3 36 12 FBQ-RIRS 0 — — a] 12 — — — %2, 4
99 EEREFTR 77 2 231 127 DF—®BQ -13 — — o] 104 — — — %4
100 77 2 203 111 FABN-RIAR 0 — — a] 91 — — — %4
101 77 2 68 37 DG-/IBD 8 — — o] 30 — — — x4
102 77 2 234 129 DG—BN 17 — — a] 105 — — — %4
7103 PIEERAR 77 2 81 44 DG—RIBH 3 — — o] 36 — — — x4
#9104 RER 77 2 152 83 FBQ—ECF -18 — — a] 68 — — — %4
7105 EBIR 77 2 - - - FEBA—>MBQ - — — - - - - - <&
106 XEBIR 77 2 - - - FEF-MEBQ - — — - - — — — &
7107 REZR 77 2 360 198 FaBQ—>FACF 3 — — o] 162 — — — %4
73108 RERXSLR 77 2 155 85 DF—RBY 8 — — a] 69 — — — %4
109 SRIER 77 2 59 29 MBY—>FBU 3 — — a] 29 — — — %4
#9110 FIRR 77 2 52 28 FBY—EDO -1 — — RA] #2 - — — — %4
111 BRI 77 2 57 31 DF—>®CL -1 - — E] #2 - — — — %4
112 BHER 77 2 109 61 DF—BffsR 0 — — & 49 — — — %4
113 EIRTHR 77 2 118 65 DF—®CX 3 — — B 53 — — — %4
114 EHZERR 77 2 63 34 DF—FCR 4 — — & 28 — — — %4
115 BEXR 77 2 57 31 DF—FCI 3 — — a 25 — — — %4
7116 EAER 77 2 105 57 FCP—ECN 8 — — & 47 — — — %4
118 ARERIFERIR 77 2 139 69 DGR 0 — — B 69 — — — %4
119 IE=FR 77 2 111 61 DG-/IBZ 6 — — & 50 — — — %4
120 KINEESZHR 77 2 52 28 DG—®CD 3 — — B 23 — — — %4
121 i 77 2 59 32 CW—FCG 6 — — & 26 — — — %4
122 R 77 2 178 97 CW-ECO 4 — — B 80 — — — %4
7123 T84 ER 77 2 52 28 FCO—FCM 3 — — & 23 — — — %4
124 EEBR 22 1 - - - e - — — - - an RES - O
125 SRR 77 2 64 35 CW—FCU 5 — — & 29 — — — %4
126 R 77 2 45 25 CW-RECZ 3 — — B 20 — — — %4
7127 XA 77 1 - - - FEBA>CW - — — - - — — — O
128 RACHR 77 1 134 147 BE CW—DB -19 — — ] #1 - — — — %1
7129 RI=ER 77 2 184 101 BP—FCB 2 — — a] 83 — — — %4
130 RISHR 77 2 122 65 BP—FICY 5 — — Bl 57 — — — %4
131 J\HZR 77 2 54 29 BP—RIDG 4 — — a] 24 — — — %4
132 TRESR 77 2 62 34 BP—®DE 6 — - al 28 — — — %4
7133 EFHER R 77 2 60 33 BP—FCC 5 — — a] 27 — — — %4
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#134 RALR R 77 2 154 84 BP—mCT 8 = = E] 69 = = - X4
7136 RBZHHR 77 2 63 34 BP—7DA 6 - - ] 28 - - - X4
@137 ISR 77 2 88 48 BPMCS 7 — — B 39 - - - X4
7138 BEEZR 77 2 63 35 BP—FDD 3 - - ] 28 - - - X4
139 IXEBHR 77 2 - - FBFIME - - - - - abD PSEY - <&
7140 RATHR 77 2 48 26 BP—FCV 3 - - ] 21 - - - X4
141 IR 77 2 53 29 BPREDP 3 — — el #2 - - - - X4
7142 EARR 77 2 137 75 BPBIAS 1 - - ] 61 - - - X4
143 BRI 77 2 89 48 BPFDF 5 — — B 40 - - - X4
7144 EAZR 77 2 188 103 BP—DL 6 - - ] 84 - - - x4
145 PR 77 2 154 84 BP>MDU 14 — — B 69 - - - X4
7146 BERR 77 2 299 164 BP—MIDI 3 - - ] 134 - - - x4
7147 ] 77 1 B B FIDIS A - — — - - — — — &
7148 TR 77 2 188 103 BO—HIA 1 - - ] 84 - - - X4
7149 BERR 77 2 127 70 BO—MEG 8 — — B 57 - - - X4
7150 FEARTR 77 2 184 101 BO—FAEL 5 - - ] 83 - - - x4
151 ERRR 77 2 53 29 BO—>MDV 1 — — B 23 - - - X4
7152 [EEEUE 77 2 237 130 BM—CP 14 - - ] 106 - - - x4
153 AT 77 2 198 108 BM—EIDN 1 — — B 89 - - - X4
7154 AN 77 2 108 59 BM—#DK 1 - - ] 48 - - - x4
155 FEHAR 77 2 92 46 BM—EIDC 2 — — B 46 - - - X4
#5156 TSR 77 2 166 91 BM—DS 7 - - ] 74 - - - X4
157 TREZR 77 2 70 35 BM—7ID) 1 — — B 35 - - - X4
7158 JLBEER 77 2 62 31 BM—DH 3 - - ] 31 - - - X4
@159 ERSEEA 22 2 a1 22 FICPBIRUR 0 — — B 18 - - - X4
#5160 EEHRLR 22 2 40 20 DKL 0 - - & 20 - - - X4
#5162 BARHR 22 2 21 10 FIEFRIRUR 0 — — B 10 - - - X4
7163 WEAR 77 2 86 47 BM—mDY 5 - - & 38 - - - x4
#5164 B ERRR 77 2 46 25 BM—FEE 1 — — B 20 - - - X4
7165 ISR 77 2 172 94 BM—REB 1 - - & 77 - - - x4
#5166 BALR 77 2 154 84 BMBIRRR 2 — — B 69 - - - X4
7167 FEBRAR 77 2 120 66 BO—FIDX 3 - - & 54 - - - X4
#5168 EALIR 77 2 63 35 BO—mDQ 2 — — B 28 - - - X4
7169 AR 77 2 184 101 BO—TEF 0 - - & 83 - - - x4
#5170 EHIR 77 2 184 101 BO—PIEP 4 — — B 83 - - - X4
@171 SEHRR 77 2 57 31 BO—MET 1 - - & 25 - - - X4
"172 R R 77 2 154 84 BO—MEA 1 — — B 69 - - - X4
@173 R 77 2 73 40 BO—mE) 5 - - & 32 - - - X4
174 SREAFARER mARRAI 77 2 184 101 BO—RifsR -11 - - a 83 - - - %4
@175 TEXR 77 2 63 35 BO—mDO 17 - - & 28 - - - x4
#5176 RAEZHR 77 2 104 57 BO—AIDR 6 — — B 46 - - - X4
w177 RS 77 2 50 27 BO—FDM 2 - - & 22 - - - x4
178 IREBHR 77 1 - - FBFI—>MDO - - - - - - - - &
179 B 77 2 121 66 BO—mDT 1 - - & 54 - - - X4
181 EER 77 2 109 54 BOHIRUR 0 — — El 54 - - - X4
#5182 FIABRE AR 77 ] 369 101 BO—FIEH 9 - - & 64 - - - %3. 4
#5183 FIRAEAR 77 2 174 95 FIEH—FED 1 — — B 78 - - - X4
7184 AR 77 2 57 31 FIEHTIEL 4 - - & 26 - - - X4
185 = 77 2 86 47 BO—MEQ 13 — — B 38 - - - X4
7186 HEAR 77 2 75 37 BO—MEK 5 - - & 37 - - - X4
7187 AKHR 77 2 118 59 BARSR—RIAR 0 - - a 59 - - - X4
#5188 SREFANRAR el 77 2 142 78 BN-BIRS 0 - - & 64 - - - X4
#5189 IR 77 2 85 46 BN—MIEZ 7 — — El 38 — — — X4
7190 KRR 77 2 118 65 BN-TIEY 4 - - & 53 - - - X4
#5191 TEZR 77 2 118 65 BNSFEO 2 — — El 53 — — — X4
7192 R 77 2 318 175 BN-RIEV 113 - - & 143 - - - x4
#5193 HEERSZAR 77 2 118 65 BN—FFA 2 — — El 53 — — — X4
7194 IR 77 2 109 60 FIEVORIRER 0 - - & 49 - - - X4
#5195 BRER 77 2 203 111 FIEV—RIEX 1 — — B 91 — — — X4
7196 RS 77 2 o1 50 FIEVOMES 3 - - & a1 - - - X4
#5197 EEsd 77 2 89 48 FIEVOMER 5 — — El 40 — — — X4
7198 [ 77 2 59 32 FIEVREM 6 - - & 26 - - - X4
#5199 FAZIR 77 2 60 33 FIEVSMIEC 6 — — B 27 - - - X4
#5200 R 77 2 137 75 FIEVORmEU 3 - - & 61 - - - X4
7201 XEAR 77 1 - - FE/FF—>FMEU - - - - - - - - &
#5202 B%) IWEEHR 77 2 268 134 BRSO BIRS 0 - - & 134 - - - X4
#5203 T 77 2 77 22 BN-BIRR A 11 — — B 34 — — — X4
7204 DALSTTMR 77 2 208 114 TIEVOMEW 2 - - & 93 - - - X4
#5205 IR 77 2 267 147 FIEV—FIFE 22 — — B 120 - - — X4
#5206 TRAEZR 77 2 163 90 FEVORFB 1 - - & 73 - - - X4
#5207 ERELR 77 2 65 35 FIEVoRFD 16 — — El 29 - - - X4
7209 RIAEER 22 2 32 16 FFFORIRR 0 - - & 16 - - - X4
#5210 R 77 2 90 29 BT>MFC 3 — — El 40 — — — X4
@211 TEEAR 77 2 57 31 BTRFG 7 — — & 25 - - - X4
w213 ISR 77 2 90 49 BT—RFF 2 - — B 40 — — — %4
214 TSR 77 2 267 133 BT-RIRS 0 - - E] 133 - - - x4
@215 KIRIBERA TR 22 1 9 9 - — 4 4 FE] #1 - — — — X1
#5216 KIRIBER AT 22 1 11 11 - - 11 11 el # 1 - - - - *1
w217 IAFOITAR 22 1 10 10 - — 10 10 ] #1 - — — — %1
#5218 T 22 1 - - - - - 5 5 B B — — - &
7219 EBR 22 1 - = = - — 10 10 - - — — — &
#5220 o RO 22 1 10 10 wER - - 10 10 el # 1 - - - - %1
221 EBR 22 1 - = = - — 10 10 - - — — — &
#5222 T 22 1 - - - 0 0 B B — — - &
7223 SRR 22 1 - - - — 5 5 - - — — — &
#5224 R 22 1 - - - - - 3 3 B B — — - &
7225 TRRIR 22 1 9 9 - — 2 2 8] # 1 - - - - %1
#5226 ENEEER 22 1 6 6 - - 6 6 el # 1 - - - - %1
w227 E5E_REBER 22 1 8 8 - — 8 8 ] #1 - — — — %1
#5229 EAF B 22 1 14 14 - - 14 14 el # 1 - - - - %1
7230 EARIEAR 22 1 8 8 - — 8 8 ] #1 - — — — %1
#5231 BT 22 1 8 8 - - 8 8 Aa] # 1 - - - - %1
7232 EANEIHR 22 1 12 12 - — 12 12 ] #1 - — — — %1
#5233 SAILR 22 1 8 8 - - 8 8 Aa] # 1 - - - - %1
7234 SRR 22 1 12 12 - — 12 12 ] #1 - — — — %1
#5235 5278 2 XFEAIEER 22 1 10 10 - - 0 0 Aa] # 1 - - - - %1
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79236 XL 22 1 - - - - — 1 1 - - - - - O
238 CEEET 77 1 54 54 DH—1LEG 12 — — e #1 - — — — %1
73239 BOREE LR 77 1 75 75 DH—LEI 9 — — Fa] #1 - — — — %1
7240 IREBHR 77 2 - - - FEBAR—>ME - — — = = — — — &
7243 XL 77 1 - - - S —BT - — - - - - - - O
245 PATEAR 77 2 52 28 BP—FICQ -1 — — a] 23 — — —
7246 [ 77 2 237 130 BT—FEN -56 — — & 106 — — — %4
7247 | SEIRE (RAMILITW-IF) 77 2 135 74 BT—FEN -19 — — a] 61 — — — x4
79248 | SEIRRIL CRAMIITW-2) 77 1 67 74 BT—#IS -32 — — & 67 — — — %4
7249 | SEIFR2L (RAIMUIITW-7) 77 1 67 74 BT—AlS -2 — — a] 67 — — — x4
=1 FHAIVEIR 77 2 267 173 RE-AX -34 — — & 120 — — — %4
=2 ERBIHR 77 2 118 65 RAAX -3 — — a] 53 — — — x4
AR 77 2 98 54 RB—AX -1 — — & 44 — — — %4
R4 FI+HIAR 33 1 16 16 FBH>RB 1 — — e #1 - — — — %1
R5 _ErRBTRER 77 2 77 42 AX—RC 1 — — & 34 — — — %4
6 ElIBET] 77 2 118 65 AX—RD 8 — — a] 53 — — — x4
R7 IRAR 77 2 184 101 FIORE 0 — — & 78 — — — %4
=8 AR 33 2 38 21 RE->RF 0 — — a] 17 — — — x4
R9 R 77 2 122 67 AX>RG 3 — — & 55 — — — %4
=10 EREER 77 1 89 89 RGoRH 0 — — e #1 - — — — %1
=11 2] 77 1 35 35 RGRH 0 — — Fa] #1 - — — — %1
R12 IR 33 1 19 19 REFH>RAG -1 — — e #1 - — — — %1
R13 EETE 77 1 86 86 RBV->RBW 9 — — Fa] #1 - — — — %1
R14 Ed 77 2 90 49 RE-RI 4 — — a] 40 — — — x4
R15 hEREERIR 77 2 74 40 RE-RJ 2 — — a 33 — — — %4
=17 HREHR 33 2 38 21 RKRP -3 — — a] 17 — — — %4
R18 FEARR 77 2 105 58 RM-RP 1 — — & 47 — — — %4
=19 SRERBI SR 77 2 118 65 RL-RP -5 — — a] 53 — — — %4
R20 SRRETRAGERBAR 33 1 11 11 RN-FRL -8 - - A #1 - - - - %1
=21 UL ERR 33 1 16 16 RO-RP -3 — — e #1 - — — — %1
R22 BRI 77 2 118 65 RP>RQ 2 — — ] 53 — — — %4
=23 TETZIR 77 2 184 101 RP-RR -45 — — a] 83 — — — %4
R24 BRI IR 77 1 59 59 RPFEEA 0 - - AE #1 - - - - %1
R25 LR 77 2 184 101 RP-AS -50 — — a] 83 — — — %4
R26 LRI R 33 2 38 19 RPRX -1 - - a 19 - - - %4
=27 SEETRIERR 33 2 31 17 RRORS 3 — — a] 14 — — — %4
R28 iR 33 2 64 35 RT-RU -8 — — ] 29 — — — %4
=29 SREREBIR 77 2 184 101 RU-RV 12 — — a] 83 — — — %4
30 i 77 2 268 147 RV—AS -10 — — & 120 — — — %4
=31 FESEEBIR 77 2 184 101 RV—AS 10 — — a] 83 — — — %4
R32 TrEHXR 77 2 122 67 RW-AS -2 — — i 55 — — — %4
=33 RGN 77 2 253 139 AS—HEFL 2 — — a] 114 — — — %4
R34 POBESTAR 77 2 118 65 RY—AS -1 — — & 53 — — — %4
=35 RS HR 77 2 360 198 RAB—AS -56 — — a] 162 — — — %4
36 EFHEER 77 2 184 101 RZ-AS -9 — — i 83 — — — %4
=37 RALBAE 77 2 114 62 RZ-AS -9 — — a] 51 — — — %4
R38 FriEEDEANLLIAR 77 2 184 101 RAA—-AS -11 - - a 83 - - - %4
=39 BEZR 77 2 190 104 RAC—AS -2 — — a] 85 — — — %4
R40 TEALAR 77 2 184 101 AS—FAA 0 — — i 83 — — — %4
=41 [N 33 2 38 21 HHCoRAA -7 — — a] 17 — — — %4
EETR 77 2 545 299 FAD—AS -81 — — a 245 — — — %4
BEFZR 77 2 184 101 RAG—AS -9 — — a] 83 — — — %4
R4 EEEAR 33 2 36 20 RAE-SFTAG -1 — — ] 16 — — — %4
R45 EoFEnRIR 33 1 15 15 REFR->RAG -6 — — a] #1 - — — — %1
R46 JUERMIFR (REZTFR) 77 2 184 101 FHE—RAD -71 — — al 83 — — — %4
=47 FESPEIERR 77 2 163 104 RAJ-AS -54 — — a] 73 — — — %4
R48 REFZAR 77 2 75 37 R AS -11 — — ] 37 — — — %4
=49 FHRETSZR 77 2 109 54 RAH-AS -37 — — a] 54 — — — %4
R50 AFIRAR 77 2 118 65 RAF>AS -8 — — o] 53 — — — x4
51 AALEE R 33 1 16 16 R >RAF -6 — — a] #1 - — — — %1
R52 FHRBTIR 33 1 13 13 RAISRAH -4 — — FaE] #1 - — — — %1
=53 FERED/ AR 77 2 322 177 RAL-M -35 — — a] 145 — — — %4
R54 IR 77 2 118 65 M- RAN 4 — — o] 53 — — — x4
=55 EEE 77 2 190 104 RAM-M -8 — — a] 85 — — — %4
56 JREBBR 77 2 163 90 RAJTRAL -11 — — a 73 — — — %4
=57 FIFHESZ AR 77 2 90 45 RAK-RAL 0 — — a] 45 — — — %4
R58 TESEP AR 77 2 184 101 M—RAO 18 — — o] 83 — — — x4
=59 JERIRAREFR 77 2 68 37 RAO—AB 10 — — a] 30 — — — %4
60 HERIR 77 2 90 49 AB—RAP 7 — — a 40 — — — %4
=61 EZR 77 2 68 37 RAO—RAR 10 — — a] 30 — — — %4
762 EEZR 77 2 98 54 AB—FRAS 4 — — a 44 — — — %4
=63 FERR 77 2 77 42 AB-RAQ 5 — — a] 34 — — — %4
64 _FERR 77 2 66 33 RBL-HBH 4 — — Fa] #2 - — — — %4
R65 FEARCETRAR 77 1 136 136 CL-RB] 18 — — Fa] #1 - — — — %1
R66 SRR 77 1 124 124 CL=ZmBK 7 - — ] #1 - — — — %1
R67 FARORRR 77 1 89 89 CL>RBO 0 — — a] #1 - — — — %1
R68 SRARCITRIR 77 1 170 170 CL—HBP 9 — — ] #1 - — — — %1
=69 ET) 77 1 52 52 RBA-RCF 0 — — a] #1 - — — — %1
R70 R=5AR 77 1 127 127 RBP—HBX 0 — — ] #1 - — — — %1
R71 PR 77 2 73 40 RBI-HBL 0 — — & 33 — — — %4
R72 LISz AR 77 2 74 40 RBI->HBM 7 - - B 33 — — — %4
R73 FeO—&R 77 2 57 31 CL-RBI 7 — — & 25 — — — %4
R74 ABREFER 77 1 116 116 RBZ—HBW 9 — — el #1 - — — — %1
R75 i EARERR 77 2 243 133 CP—RBY 11 — — & 109 — — — %4
R76 TRERRR 77 1 140 140 RBY—RBZ 13 — — ] #1 - — — — %1
R77 iR 77 1 146 146 CP-RBY 16 — — a] #1 - — — — %1
R78 EREHERR 33 2 50 27 RAD—RAA 9 — — a] 22 — — — %4
=79 TR AR 22 2 22 12 RAXORAY -4 — — & 9 — — — %4
=80 BEEER 22 1 9 9 CK—RCC 0 — — Fa] # 1 - — — — X1
=81 REETHR 22 2 17 9 RBW—RCF 0 — — & 7 — — — %4
R84 AR 22 2 22 12 RCV—HCR 6 — — & 10 — — — %4
R85 FETHE 148 77 1 112 112 CI-3BG 10 — — Ra] #1 - — — — %1
R86 FIETAZER 77 1 91 91 CI-RAX 9 — — ] #1 - — — — %1
=87 UEIRAR 77 1 94 94 RAXSRAW 6 — — Ra] #1 - — — — %1
88 FELA B 77 2 283 155 CI-RAZ 9 — — a] 127 — — — %4
=89 EEAEHR 77 2 142 78 RBK—3BD 13 — — a] 64 — — — %4
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T BER 77 2 254 139 RAZRAY 1 = = B] 114 = = — [wa
R R 77 | 1 o1 o1 CISmAV 7 = = Al # 1 - = = S
ORI 77 | 1 79 79 CIomBB 3 = = A # 1 - = = .
R EUENGAR 77 | 1 66 66 RAVSRAW 6 = = Al # 1 - = = S
ELEi 77 | 1 63 63 RBB-RBG 0 = = A # 1 - = = .
FeMOAER 77 | 1 52 %2 CLomBD 0 = = Al # 1 - = = e
Er 77 | 1 72 72 RBGRBK 0 = = A # 1 - = = .
THERR 77 | 2 79 39 6 = = B 39 = = — [%a
TR 77 | 1 58 58 RAY—HBA 1 = = T # 1 - = = .
BR=Z% 77 | 1 104 115 CKomBX 0 = = Al # 1 - = = S
ToAlR 77 | 1 70 77 RCA—RBT 3 = = A # 1 - = = .
BREAR 77 | 1 122 122 CKo=CB 6 = = Al # 1 - = = S
BEERR 77 | 1 89 89 CKomBQ 8 = = Al # 1 = = = .
TR 77 | 2 177 57 RAYSCK 39 = = B 79 = = — [%a
TEFER 77 | 2 63 35 RAY—HBC 5 = = B] b = = — [%a
TER 77 | 2 244 13 CKomcC 16 = = Bl 109 = = — [%a
R CAR 77 | 1 141 141 RCComBS 0 = = T # 1 - = = .
= 77 | 1 o1 o1 RBO—RCF 17 = = Al # 1 - = = S
Tam 77| 2 172 92 CKomCA 5 = = B 77 = = — [%a
TRARR 77 | 1 113 113 FRCARBZ 0 = = A # 1 - = = S
BERR 77 | 1 83 7] CKomCF 0 = = Al # 1 = = = .
ESEED 77 | 1 127 127 TREXRBY 0 = = A # 1 - = = e
SHALR 77 | 1 133 133 RBTRBW 0 = = A # 1 - = = .
B 77 | 1 141 141 FRBRRCB 0 = = Al # 1 - = = e
AR 2 | 2 38 20 CM—RCD 0 = = B 17 = = — [%a
REXR 2| 2 25 3 CMomCX 3 = = Bl i1 = = — [%a
REBBR 2| 2 21 10 CM—EC 2 = = A # 2 - = = — [%a
SRR 77 | 2 125 62 ROVoRCN 0 = = Bl 62 = = — [%a
R 77| 2 125 62 CM—ECN 12 = = B 62 = = — [%a
R 77 | 2 132 73 FROVoRC0 8 = = Bl 59 = = — [%a
I 77 | 2 86 a7 ROV— 11 = = B 38 = = [
] 77 | 2 70 38 ROVomCS 5 = = Bl 31 = = — [%a
124 R 77 | 2 77 ) CMoRCL 5 = = B 3 = = — [%a
=125 R 77 | 2 134 74 CM—=DD ) = = Bl 50 = = — [%a
126 BABIER 77| 2 213 17 CMoRCP 20 = = Bl 95 = = [
ERERER 77 | 2 171 85 CMo=CD 6 = = Bl 83 = = — [%a
TRIZE 77 2 125 62 CM—HCM 6 — — al 62 — - - %4
BERILR 77 | 1 117 117 RBSHCD 8 = = A # 1 B = = [
EEERR3/AL 77 | 2 184 101 CM—#CD 5 = = B 83 = = [
TR 77 | 2 64 35 CMomCW 8 = = Bl 2 = = — [%a
EERTIRL 2L 77| 2 184 101 CM—HCD 0 = = B 83 = = [
RERTR 77 | 2 79 a3 CMomCX 7 = = Bl 36 = = — [%a
R 77 | 2 82 75 CM—RCK 5 = = B 37 = = — [%a
TETR 77 | 2 184 101 CMomBR 15 = = Bl 83 = = — [%a
AR 77 | 2 86 a7 CM—RCE 3 = = B 38 = = [
EEEEED] 77 | 2 84 22 FRCGoRAY 0 = = Bl 2 = = — [%a
B 77 | 2 109 52 RCQoRCP 75 = = Bl 34 &D e — [xa
FAILER 77 | 2 50 29 RCQoBF 33 = = Bl %0 = = — [%a
R 77 | 2 248 246 RCQBF 3 = = B 201 = = — [%a
CrE] 77 | 2 184 101 RCQoRCY 31 = = Bl 83 = = = [%a
] 77 | 2 118 65 v 2 = = Bl 53 = = — [xa
RRNZR 77 | 2 150 82 ROVo=RD) 7 = = Bl 67 = = = [%a
SRR 77 | 2 360 198 FCY—BH 36 = = Bl 162 = = [
TR 77 | 2 20 20 RCY—3DA 2 = = A # 2 - = = = [%a
WBERR 77 | 2 360 198 BH-RCZ 15 = = B] 162 = = [
MABRE AR 77 | 2 201 110 FCZomDI 3 = = Bl 50 = = = [%a
TR 77 | 2 147 80 RDISRDC 6 = = Bl 66 = = — [xa
ARG 77 | 1 77 77 RDC#DD 0 = = A # 1 - = = [
R 77 | 2 154 8a RCG—CM 13 = = Bl 69 = = — [xa
AT 77 | 2 203 111 RCGoRAU 6 = = Bl o1 = = = [%a
WA R 77 2 109 54 TRCT—CM K = = Bl 54 = = — [xa
TR 77 | 2 118 65 RCISCM BE! = = Bl 53 = = = [%a
ESEe) 77 | 2 118 65 CM—RCT 2 = = Bl 53 = = — [xa
EECENT) 77 | 2 109 54 FCG#DG 0 = = Bl 54 = = = [%a
TRERRR 77 2 205 113 FRCGoRCH 0 = = Bl % = = — [xa
SEBBILR 77 | 2 109 60 BHo®DG 10 = = Bl 9 = = = [%a
JEmEHR 77 2 118 65 BH—RDE 2 - - aJ 53 - - - %4
SRR 77 | 2 268 147 BHBI 0 = = Bl 120 = = = [%a
KEZHR 77 2 135 74 BH—RDF 4 - - aJ 61 - - - %4
TR 77 | 2 67 92 BH-=DL 3 = = Bl 75 = = = [%a
EEE) 77 | 2 166 o1 RDH-BI 5 = = B 74 = = E— )
REZR 77 | 2 166 o1 BK—>3DM 8 = = Bl 74 = = = [%a

E 77 | 2 - = RRT 1A - = = B B HD e — |°
TBItRER 3| 1 16 16 = = 15 3 A # 1 - = = [
TR 3] 1 P 2 - = 11 11 el # 1 - = = %1
TR 3| 1 18 18 = = 16 3 CER - = = .
SR 33 1 18 18 - — 18 13 A #1 - — — — %1
BT 3| 1 18 18 = = 18 3 CER - = = .
SRRER 3] 1 18 8 - = 18 18 el # 1 - = = %1
=R 3| 1 16 16 = = 16 3 CER - = = .
IRECEAR 33 1 11 11 - — 10 10 A #1 - — — — %1
[ZET 3| 1 18 18 - = 18 10 CER - = = .
REER 33 1 18 18 - - 11 11 o] #1 - — — — *1
2 FORAR 3| 1 16 16 = = 3 3 CER - = = .
IERACAR 3] 1 16 16 - = 13 13 el # 1 - = = %1
[ 3| 1 18 18 = = 16 5 CER - = = [
TEATR 3] 1 18 18 - = 15 5 el # 1 - = = %1

=R 3| 1 = = - = 2 2 - - = = e P
FETHR 33 1 16 16 - — 0 0 A #1 - — — — %1
EIER 3| 1 16 16 - = 2 2 CER - = = .
B EREE 18 18 - = 0 0 el # 1 - = = %1
TR 3| 1 18 18 = = 3 3 CER - = = .
EM 3] 1 18 18 - = 16 5 el # 1 - = = %1
TER 3| 1 18 18 = = 7 3 CER - = = .
TR 33 1 17 17 - - 8 4 |l #1 - - - - %1
EGL 2| 1 P 2 = = 2 2 CER - = = .
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xmm & iR | smsEm | @PER B NLBRLER | N-1%5 Bl S
No aRIRS v | B Goowxam | w) HBR LB L B ERagm | MO - ul &
uggim | HoREEs TEE | g | EX
J\HRER 22 1 12 12 - — 12 12 Fa] #1 - — — — %1
JLEHR 33 1 17 17 - — 3 3 e #1 - — — — %1
XA 22 1 - - - — 2 2 - - — — — <
SRR 33 1 18 18 - — 18 18 e #1 - — — — %1
BOTER 33 1 15 15 - — 14 14 Fa] #1 - — — — %1
[ 33 1 12 12 - — 3 3 e #1 - — — — %1
ET 33 1 16 16 - — 14 14 Fa] #1 - — — — %1
EBR 22 1 - - - — 0 0 - - — — — O
FLRV)\EFR 22 1 12 12 - — 4 4 Fa] #1 - — — — %1
e 22 1 12 12 - — 3 3 e #1 - — — — %1
4B O 22 1 12 12 - — 0 0 Fa] #1 - — — — %1
EMEE) 22 1 12 12 - — 3 3 e #1 - — — — %1
FHRERR 22 1 12 12 - — 8 8 Fa] #1 - — — — %1
PATSRAR 33 1 16 16 - — 15 0 e #1 - — — — %1
ARET 33 1 16 16 - — 15 0 Fa] #1 - — — — %1
TR 33 1 18 18 - — 10 4 e #1 - — — — %1
FIRAERIR 77 2 186 102 RGU-%G -8 — — & 83 — — — %4
FalRIbRF 4R 77 1 31 35 RAY—RBC 5 — — a] 31
=207 FaEARE TR 77 2 108 59 RCB-MBQ 6 — & 48
=814 BRAIEABHR 77 2 268 147 -50 — — a] 120
1 HEEDAR 33 1 15 15 FE—TA -14 — — Fa] #1 - — — — %1
2 B 77 2 154 84 RAD—#B -33 — — a] 69 — — — x4
3 BHZR 77 2 108 59 RAD—#D -12 — — & 48 — — — %4
4 K EZHR 77 2 70 38 RAD—THE -10 — — a] 31 — — — x4
##5 [EET 77 2 118 65 RAD—HF -16 — — a 53 — — — %4
6 \LIFBT AR 77 2 138 75 AK-TIG -76 — — a] 62 a0 ESE — %4
7 JHERAFFR (UER) 77 2 184 101 AK—BIRsR -99 - - a] 83 - - - %4
8 FIRBELLIR 22 2 65 35 FRI->FH -8 — — a] 29 — — — %4
##9 77 2 184 101 AK—FHI -91 — — & 83 — — — %4
##10 77 2 360 198 AK-IBAF -105 — — a] 162 — — — %4
w11 77 2 244 134 AK—FEM -29 — — i 109 — — — %4
w12 DFER 77 2 231 134 AK—FHO -10 — — a] 103 — — — %4
w13 RAXZIR 77 2 184 101 AK—FK -26 — — & 83 — — — %4
w4 EHER 77 2 118 65 AK—7#] -14 — — a] 53 — — — %4
w15 PDODETAZIR 77 2 60 33 AK—FEL -1 — — & 27 — — — %4
#16 =EER EAR 77 2 267 147 FM—FEN -4 — — a] 120 — — — %4
w17 e 77 2 159 87 AP—#N -98 — — & 62 — — — %4
718 AHE=ER 22 2 25 14 DN-#IN -1 — — a] 11 — — — %4
w19 EET 22 2 36 19 DN—#Q -1 — — & 16 — — — %4
##20 BRATR 77 2 70 38 AP—THP 1 — — a] 31 — — — %4
w21 BEALR 22 2 26 14 DN—#T -3 — — & 11 — — — %4
w22 BEZR 77 2 75 42 AP—THS -7 — — a] 33 — — — %4
w23 —FBHR 77 2 79 43 VU -10 — — i 35 - - - x4
24 FRZER 77 2 136 74 AT->HW -4 — — a] 61 — — — %4
w25 =] 77 2 88 48 AT—HX 8 — — i 39 — — — %4
26 hILIFEHR 77 2 57 31 AT—RY 4 — — a] 26 — — — %4
w27 AFPDER 77 2 184 101 AT—AEAF 5 — — & 83 — — — %4
28 AR 77 2 73 40 HHAA—TRAB 5 — — a] 32 — — — %4
##29 ST 77 2 105 58 AT—HAA 5 — — & 47 — — — %4
##30 TR 77 2 108 59 AT-HAC 8 — — a] 48 — — — %4
w31 B 77 2 98 54 AT—#AD 7 — — a 44 — — — %4
##32 LR 77 2 304 152 AT—AQ 20 — — a] 143 — — — %4
1433 4R 77 2 154 84 AQ—FAE 11 - - ] 69 - - - %4
w34 EE 77 2 474 260 AT>HAF 31 — — a] 213 — — — %4
w35 FER 77 2 94 51 AT—#AG 7 — — a 42 — — — %4
36 EIBRFIR 77 2 252 139 FRAF>TAH 4 — — a] 113 — — — %4
w37 NBIRFFDER 77 2 171 94 AW—HAH -10 — — o] 76 — — — x4
##38 CIEHZAR 77 2 73 40 AW—FRAL 1 — — a] 32 — — — %4
39 HESAR 77 2 52 28 FRAF—THAK 5 — — al 23 — — — %4
##40 TREFSTAR 77 2 88 48 FAFFRA 2 — — a] 39 — — — %4
a1 RO 77 2 79 43 FRAF—-FRAM 6 — — al 35 — — — %4
a2 TSR 77 2 159 87 AN-AW 0 — — a] 71 — — — %4
w43 TR 77 2 122 67 FRANSTHAO 10 — — a 55 — — — %4
#haa LA 22 2 22 11 HAP—HIAO -2 — — a] 11 — — — %4
45 AR 77 2 138 76 FHAN—FHAP 11 — — al 62 — — — %4
46 TSR 77 2 159 87 FRAN-BIAR 6 — — a] 71 — — — %4
547 BB TR 77 2 86 47 FAN—THAQ 8 - - ] 38 - - - %4
w48 SITEZIR 77 2 184 101 FAN-TIAR 6 — — a] 83 — — — %4
49 e 77 3 55 18 FHARDHAS 6 - — | #2 - — — — X4
##50 SITERORIR 22 2 31 15 HAU-BEE 0 — — a] 15 — — — %4
#51 ERXR 77 2 70 38 AW—THAL -1 — — al 31 — — — %4
##52 FARIGR 77 2 47 25 = HAVSTRAT 4 — — a] 21 — — — %4
153 ERESKR (BER) 77 2 142 78 nas FBA>HAV -8 — — a] 64 — — — x4
##54 EER 77 2 56 31 = FAVSTHAW -4 — — RA] #2 - — — — %4
##55 EBILIR 77 2 142 78 CB—1LER 0 — — =] 64 — — — %4
#56 77 2 142 78 CB—ILER 0 — — & 64 — — — %4
#57 77 4 489 134 CB—##AV -13 — — a] 85 — — — %3, 4
#58 77 2 171 94 CB-#AU 12 — — & 77 — — — %4
##59 77 2 184 101 CB—#AX 14 — — a] 83 — — — %4
#60 T 22 2 35 17 FAU-TRAX 0 — — & 17 — — — %4
761 RRILIBRER 77 2 55 30 FHAU—TRAY 5 — — a] 24 — — — %4
##62 FASRIEAR 77 2 159 87 CB—#AR 12 — — & 71 — — — %4
163 JEITTERR 77 2 75 41 CB—#AZ 5 — — Bl 34 — — — %4
w64 JREET 77 2 125 69 AT—#BC 0 — — & 56 — — — %4
165 RESTHR 77 2 105 58 AT—#BA 6 — — B 47 — — — %4
##66 R 77 2 75 41 AT-#BB 5 — — & 34 — — — %4
167 ILERFEER 77 2 174 96 FRBE—##BC 15 — — B 78 — — — %4
#H68 PR 77 3 121 44 FHBE—7#BF 21 — — & 32 — — — %2, 4
870 sl 77 2 64 32 FRBE—#BD 6 - - ] #2 - — — — %4
w71 FEEFER 77 3 75 25 #HBE—#BG 13 — — Fa] #2 - — — — %4
72 =S 77 2 62 34 FHBE—>#HBH 6 — — B 28 — — — %4
#73 LEER 77 2 125 69 AQ-HBC 0 — — a] 56 — — — %4
w74 BUIIHR 77 2 125 69 AQ->T#BH 0 — — a] 56 — — — %4
#75 EEZR 77 2 154 84 AQ-HBI 13 — — a] 69 — — — %4
1876 FRR 77 2 156 85 FBI->FHB) 7 - — B 70 — — — %4
w77 AILIZHR 77 2 88 48 AQ-HBL 9 — — a] 39 — — — %4
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xmm & iR | smsEm | @PER B NLBRLER | N-1%5 Bl S

No aRIRS v | B Goowxam | w) HBR LB L B ERagm | MO = wl&J

upd | HoRSER TEE | g | EX

w78 LR 77 2 80 44 AQ—HBK 9 — — & 36 — — — %4
79 AR 77 2 75 41 AQ-THBM 9 — — a] 34 — — — x4
##80 ERRAFRIAER 77 1 16 16 AQ—HBN 0 — — Fa] #1 - — — — %1
##81 AR 77 2 46 25 FRBN—FHBL 11 — — a] 20 — — — x4
782 R 77 2 55 30 AQ-THBP 4 — — & 24 — — — %4
##83 HERER 77 2 69 38 AQ-#BQ 9 — — a] 31 — — — x4
g4 AT 77 3 251 92 AQ-THBN 29 — — & 67 — — — %2, 4
85 RETAS> R 77 3 81 30 AQ—THBO 17 — — a] 21 — — — %2, 4
786 FEREER 22 2 23 12 #BO—BN 0 — — & 10 — — — %4
w87 R 77 2 75 41 AQ-THBR 7 — — a] 34 — — — x4
788 ERR 77 2 137 88 AP—AQ 0 — — & 61 — — — %4
##89 AR 77 2 70 38 AP—THBS 10 — — a] 31 — — — x4
##90 FEHEER 77 2 82 45 AQ-BIREESR 0 — — B] 37 — — — %4
91 R 77 2 184 101 AQ-THBT 27 — — a] 82 — — — x4
w92 R— MR 77 1 81 81 AQ-BY 12 — — Fa] #1 - — — — %1
93 TEBR 77 1 91 91 AQ-FHBW 12 — — e #1 - — — — %1
##94 LEFEAE 77 1 92 101 FBT—-#BU 16 — — & 92 — — — %4
##95 HEBEAR 33 1 10 10 FBU—FBW 0 — — e #1 - — — — %1
w97 hILFE 77 2 174 96 AP—HBZ 10 — — & 78 — — — %4
98 BT 77 2 60 33 AP—THBY 5 — — a] 27 — — — x4
799 =ER— MR 77 2 182 100 FHBY—HBX -12 — — & 81 — — — %4
100 TR— NEISZAR 77 2 180 99 FBY—THBX -12 — — a] 81 — — — x4
7101 TEBR— MR 77 1 81 81 FBW-BY 12 — — Fa] #1 - — — — %1
102 =EMPER 77 2 188 103 HHCA>THBW 18 — — a] 84 — — — x4
#103 ==l 77 2 158 87 FCA—HICB 5 — — a 71 — — — %4
104 ==aEER 33 1 13 13 FCD—FHCA 0 — — A #1 - — — — %1
1105 = =R 77 2 294 161 FCA—FCC 14 — — B] 132 — — — %4
106 T 77 2 245 135 #HCCHCD 4 — — a] 110 — — — %4
107 ==E/IF 77 2 219 120 FHCA—-HCL 14 - - ] 98 - - - X4
108 AEERIR 33 2 39 21 FHCF—F#CD 0 — — a] 17 — — — %4
111 FEE)R 77 2 219 120 FCI->FCL 0 - - ] 98 - - - * 4
w112 AR 77 2 44 24 FHCL—FCH 3 — — a] 19 — — — %4
1113 SRR 77 2 44 22 FCI>FCK 5 — — FE] #2 - — — — %4
Wi14 HRIMR 77 2 206 113 AP—HICF 12 — — a] 92 — — — %4
115 HEABEER 33 2 31 15 FHCR-#CD 0 - - ] 15 - - - X4
116 FERIR 77 2 268 147 #HCR-TCQ 15 — — a] 120 — — — %4
w117 FERE IR 77 2 268 147 AP—AQ 0 — — B] 120 — — — %4
118 2R 77 2 66 36 AO—THC) 4 — — a] 29 — — — %4
119 B 77 2 240 132 AO—HCI 10 — — B] 108 — — — %4
120 FULISZHR 77 2 61 33 AO—THCE 4 — — a] 27 — — — %4
122 REAXHR 77 2 64 35 AP—THCM 5 - - ] 28 - - - X4
w124 FHRBIZR 77 2 44 24 AP—HCO 5 — — a] 19 — — — %4
4126 FHETER 77 2 125 69 AP—CQ 0 - - ] 56 - - - X4
127 TR 33 2 32 17 FCR—FCT 1 — — a] 14 — — — %4
1128 HARR 77 2 79 43 AP—F#CS -2 — — B] 35 — — — %4
129 PSR (FFR) 77 2 90 49 AP—BIfSR -46 — — a] 40 — — — %4
#0130 PR 77 2 118 65 AP—-HCW -7 - - a] 53 - - - %4
131 TR 77 2 109 60 AP—AO -39 — — a] 49 — — — %4
132 BEEIR 77 2 118 65 AP—THCU 4 - - ] 53 - - - X4
133 ARZIR 77 2 274 150 AP—TICY -39 — — a] 123 — — — %4
134 ZAREAR3/4L 77 2 184 101 AO—CQ 0 - - a 83 - - - %4
135 EIE 77 2 147 81 AO—THDA 7 — — a] 66 — — — %4
#4136 EEXHR 77 2 86 47 AO—->#DB 7 — — al 38 — — — x4
w137 FFERL/2L 77 2 184 101 #HCQ—AO 0 — — a] 83 — — — %4
138 TERUSZAR 77 2 73 40 FHCQFCP 8 - - ] 32 - - - X4
139 ETR 77 2 374 206 AO-TDE -136 — — a] 168 — — — %4
#1140 BOZHR 77 2 203 111 AO—>#DC 6 — — 7] 91 — — — %4
w141 RESR 77 2 140 77 AO-HDG 6 — — a] 63 — — — %4
1142 FKKIR 77 2 94 51 AO—DD 13 — — o] 42 — — — %4
w143 FBULR 77 2 70 38 AO—IDF 5 — — a] 31 — — — %4
144 FEREBARIR3/4L 77 2 255 140 AO—#DM 22 — — B] 114 — — — %4
w145 EIRLSZR 77 2 214 117 AO—TICX 22 — — a] 96 — — — %4
#4146 BHAZIR 77 2 70 38 AO—>#CY 2 — — al 31 — — — %4
w147 PR BAGIR]/2L 77 2 255 140 AO-#DM 0 — — a] 114 — — — %4
#4148 FRSZHR 77 2 240 132 AO—#CZ 3 — — 7] 108 — — — %4
w149 Bk SR 77 2 128 70 AO-#DI 3 — — a] 57 — — — %4
#1150 ERESR 77 2 54 30 AO—>##DH 3 — — al 24 — — — %4
151 B TR 22 1 9 9 FHDH—FDE 0 — — o] #1 - — — — %1
#0152 AFR 77 2 44 24 F#DI—>D) 4 — — | #2 - — — — %4
153 AR 77 2 75 41 FDM—FIDK 6 — — a] 34 — — — %4
1154 ) 77 2 75 41 #DM—#DL 5 — — o] 34 — — — %4
155 LA 77 2 68 34 AN-7HDN -4 — — a] 34 — — — %4
1156 AERAR 77 2 268 147 AN—>##DP -13 — — o] 120 — — — %4
7157 FIAAMRSNR 77 2 54 27 AN-FDQ -1 — — & 27 — — — %4
#4158 EESHR 77 2 56 28 AN->##DO -17 - — B 28 — — — %4
159 THER 77 2 53 29 FWDP—MDR 4 — — & 24 — — — %4
#4160 STHBRER 22 2 23 11 ##HDR—FHDS 0 — — B 11 — — — %4
161 FETILIR 22 2 21 10 FDS—#DT 0 — — & 10 — — — %4
#4162 sz 77 2 201 110 AN—#DT -6 — — B 90 — — — %4
163 TIIZRER 22 1 10 10 FDT—#DU 0 — — FA] #1 - — — — %1
1164 allll 77 2 122 67 FHDT—JECN 4 - — Bl 54 — — — %4
165 ZREXR 77 2 152 84 YECE—-#HDU 2 — — & 68 — — — %4
1166 Ra 77 2 240 143 FHDE—##DX -185 — — B 75 a0 pSES - %4
w167 BEEER 22 2 33 18 FHDX DV -15 — — & 15 — — — %4
#4168 dsisd 77 2 184 116 FHDX—FHED -104 - — B 83 — — — %4
169 TRERR 77 2 118 65 FHDX—>HDW -11 — — & 53 — — — %4
#0170 ISR 77 2 123 67 FHDX—FHDY -50 — — B 55 — — — %4
171 FEsMAAR 77 2 158 87 FEDFEA -59 — — & 71 — — — %4
172 REXHR 77 2 118 65 FHED—##DZ -24 - - B 53 — — — %4
w173 AR 77 2 122 84 FHEDFHEA -45 — — & 55 — — — %4
1174 RETSZHR 77 2 154 84 FHED—THEB -25 — — B 69 — — — %4
w175 AR 77 2 118 65 FED>FEC -21 — — a] 53 — — — %4
#4176 FIRSTHR 77 2 118 65 FRED—TREE -42 - - 7] 53 — — — %4
w177 3% 77 2 - - - FETFR—>FHDP - — — - - — - - <o
14178 JEX=5 77 1 - - - FEBPR>FBN - — - - - — — - <
179 IRTEHR 77 2 - - - FEBAIMAV - - - - - — — — &
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e L3 wwsE | sRssE | ERsE == NABHIER | N-1%5) Bl e
No B v | B Goowxam | w) HBR LB L B ammem | HOHE0 = ul &
HIREEE et v
180 ER 77 | 1 — — FerroCB = = = = = = —
181 R 3| 1 = = = = = 11 3 - - = = =
W82 B 2| 1 B B = = 8 8 A # 1 - = = =
183 Zim 2| 1 8 8 = = 4 7 Al # 1 - = = =
Wisa EEE 2| 1 B B = = 8 8 A # 1 - = = =
185 ER 2| 1 8 8 = = 5 5 Al # 1 - = = =
186 SER 2| 1 B B = = 8 8 A # 1 - = = =
187 RAZER 2| 1 8 8 = = 6 1 Al # 1 - = = =
188 B 2| 1 B B = = 3 7 A # 1 - = = =
189 TER 2| 1 8 8 = = 6 6 Al # 1 - = = =
190 e 2| 1 B B = = 6 6 A # 1 - = = =
191 BER 2| 1 8 8 = = 8 8 el # 1 = = = =
192 RAIR 2| 1 8 B = = 1 1 A # 1 - = = =
193 il 2| 1 8 8 = = 3 3 el # 1 = = = =
194 EAIER 2| 1 1 11 E - 6 3 Al # 1 = = = =
195 TIEHR 2| 1 11 11 - = 11 11 el # 1 = = = =
196 FREER 2| 1 2 2 E - 6 6 Al # 1 = = = =
197 ERILR 2| 1 2 2 - = 10 10 el # 1 = = = =
198 B 2| 1 B B = = 0 0 A # 1 - = = =
199 ERLOR 2| 1 8 8 = = 0 0 Al # 1 - = = =
200 ITR 2| 1 B B = = 8 8 A # 1 - = = =
201 R 2| 1 8 8 = = 8 8 A # 1 - = = =
202 ERR 2| 1 B B = = 8 8 A # 1 - = = =
7203 LT 2| 1 8 8 = = 8 8 Al # 1 - = = =
204 FEERR 2| 1 1 11 - = 1 1 Al # 1 = = = =
205 IXEHR 22 1 - - - — 3 6 - _ — — —
7206 FEERR 2| 1 o 5] - = 2 2 T # 1 = = = =
7207 FR 2| 1 8 8 = = 8 8 A # 1 - - = =
7208 R 2 | 1 8 8 - = 8 8 T # 1 - = = =
209 IXEHR 22 1 - - 11 11 - - - — —
7210 SRR 2 | 1 8 8 - = 1 1 R - = = =
211 Tl 3| 1 3 3 - = 3 3 el # 1 = = = =
212 AR 3] 1 3 3 - = 13 13 el # 1 = = = =
7213 Tiam 2| 1 8 8 = = 7 0 A # 1 - - = =
w214 EEER 2| 1 8 8 - = 8 0 T # 1 - = = =
215 B 2| 1 8 8 = = 6 0 A # 1 - - = =
7216 R 2 | 1 8 8 - = 7 0 el # 1 = = = =
w217 B 2| 1 8 8 = = 2 0 A # 1 - - = =
7218 B 2| 1 = = = = B 0 = - = = =
7219 PR 2| 1 2 2 - = 11 2 el # 1 = = = =
7220 B 2| 1 8 8 - = 0 0 T # 1 - = = =
221 PR 2| 1 8 8 - = 6 6 el # 1 = = = =
222 AR 2| 1 8 8 - = 7 7 el # 1 = = = =
7223 5% 2| 1 0 0 = = 5 5 A # 1 - - = =
224 R 2| 1 8 8 - = 8 8 T # 1 - = = =
225 il 2| 1 8 8 = = 7 7 A # 1 - - = =
7226 B 2| 1 = = = = = 3 1 = - = = =
227 IXEHR 22 1 - - - — 0 0 - _ — — —
#0228 IXEHR 22 1 - - — 6 0 - — — _ —
7229 ER 2| 1 = = = = = 7 2 - - = = =
7230 xmR 2| 1 = = = = = 7 7 = m = = =
w231 ER 2| 1 = = = = = B 0 - - = = =
0232 EBIR 22 1 - - - - — 0 0 - — — — -
7233 ER 2| 1 = = = = = 6 5 - - = = =
234 REBHR 22 1 - - - - — 11 11 - - — — —
7235 ER 2| 1 = = = = = 0 0 - - = = =
7236 XmR 2| 1 = = = = = 1 1 = m = = =
7238 ER 3| 1 - = = = = 11 11 - - = = =
7239 xmR 2| 1 = = = = = 1 0 = m = = =
7240 ER 2| 1 = = = = = 9 0 - - = = =
241 E 2| 1 = = = - = 2 0 = m = = =
7242 ER 2| 1 = = = = = 8 7 - - = = =
7243 BT 2| 1 = = = = = 7 1 = m = = =
244 ER 2| 1 = = = = = 3 0 - - = = =
7245 BT 2| 1 - = = = = 10 10 - - = = =
7246 BREERR 77 | 2 211 116 SR AO—TICD 0 = = B 94 = = = 2
w247 B 77 | 2 - = = Erasey - = = = = = = =
7248 ER 2| 1 = = = = = 7 7 - - = = =
7249 BT 2| 1 - = = = = 10 10 - - = = =
7250 ER 2| 1 = = = = = 7 7 - - = = =
251 BT 77 | 1 - = = F®HMED - = = - = = = =
252 IXEHR 77 1 - - - FEBFF>FDE - = = _ _ — — —
7253 R 77 | 1 - = = Fm>MDE - = = - = = = =
254 IRTEHR 22 1 - - - FEBPF DX - — = _ _ - - —
#8255 REBHR 77 1 - - - - = = _ _ — — —
7256 =R 77 | 1 = = B - = = - - = - =
257 R 77 1 - - - FEBAR>HBX - — — — - - - —
7258 =R 77 | 1 e E - REFRAD - = = = - = - =
7259 IR 77 | 1 - - = FEH DM - = = - m = = =
7260 =R 77 | 1 - - - R AK - = = = - = - =
261 ZBR 77 | 1 - - = B AK - = = - m = = =
7262 =R 77 | 1 - - - R AK - = = = - = - =
14263 EBIR 77 1 - - - B —>5RAD - — — - - — — —
264 =R 77 | 2 e E - FEFTCE - = = = - = - =
7265 IR 77 | 1 - - = R AP - = = - m = = =
7266 =R 77 | 1 - - - R AK - = = = - = - =
267 XBR 77 | 1 - - = R AP - = = - m = = =
7268 =R 77 | 1 e E - F@HWED - = = = - = - =
7269 e 2| 1 = = = - = 1 0 - m = = =
7270 =R 2| 1 = = B = = 8 3 - - = - =
w271 E=) 2 = = = 0 ) m =
311 =R 77 | 1 - - - R OAP = = = = - = - =
=1 SEHATRR 77 2 262 144 ZD—>&1 -43 — — a7 117 — — — %4
%2 TR 77 | 2 432 237 BKmDL 28 = = B 194 = = — xa
Ea BEsOXHR 77 2 173 95 BK—&I 2 - - a] 78 — — — X4
%4 IR 77 | 2 108 59 BRKoZH 1 = = B 8 = = — xa
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R mE BASE | SMSERE | SEsE zas N-IHNER | N1 L Dokl
No B ) | T Goowxam) | (Mw) HBR LB L B e - ul &
HREES FIHEME 27
%5 TR 77 | 2 50 75 =) 19 - - Gl 40 - - = %4
%6 FER B 77 | 2 268 147 BK—%0 8 - - G 120 - - - %4
%7 RS 77 | 2 77 42 BK—ZK 8 = = G 35 = = = %4
=8 EET] 77 | 2 193 106 BKZM 24 - - G 87 - - - %4
%9 RS 77 | 2 86 47 BK—ZL 2 = = G 38 = = = %4
%10 FERER (R 77 | 2 303 166 FD-H0 9 - - G 136 - - - X4
=11 e 77 | 2 123 67 BK—Z0 0 = = G 55 = = = %4
%12 526 77 | 2 70 38 FDoEN 4 - - G 31 - - - %4
%13 EIRATR 77 | 1 26 28 D3P 2 = = ECER = = = = %1
%14 AEETR 77 | 2 254 139 FD-%Q 2 - - G 114 - - - %4
%15 ZEEE Ol 77 | 2 114 62 ZDRW 1 = = G 51 = = = %4
%16 FRIR 77 | 2 262 144 FD-HG 50 - - G 117 - - - X4
%17 ERIRIZR 77 | 2 63 35 FDEF K3 = = G 28 = = = %4
%18 77 | 2 79 43 FDFA 47 = = G 32 ED) 5 - X4
%19 77 | 1 28 31 ZDRE 2 = = e # 1 = = = = %1
%20 77 | 1 34 37 #HD-FR 2 - - el # 1 = - - - %1
%21 77 | 2 70 38 ZD-%S 5 = = G 31 = = = %4
%22 77 | 2 341 187 DRV 1 - - G 153 - - - %4
%23 2 | 1 10 11 ZD-RV 0 = = ECER = = = = %1
%24 77 | 2 %4 52 #D-%:U 1 - - G 42 - - - %4
%25 T ERR 77 | 2 298 163 ZDoHT 2 = = G 134 = = = %4
%26 KA 33 | 2 32 17 FAEC 20 - - G 12 Gl EE) - X4
%27 & 2 | 1 14 15 FCoRA £ = = e # 1 = = = = %1
%28 GEIEL] 33 | 2 32 17 FA-EB 4 - - G 14 - - - X4
%29 EERR 33 | 1 16 17 AT 1 = = ECER = = = = %4
%30 ET] 77 | 2 114 62 FDoEW 1 - - o 51 - - - %4
%31 RIS 77 | 2 109 60 FVoRX 6 — - G 49 - - - %4
%32 B 77 | 2 118 65 FVoEY 5 - - o 53 - - - %4
%33 B 77 | 2 109 60 FAT RV 5 - - G 49 - - - %4
%34 It 77 | 2 184 101 BQZV 11 - - o 83 - - - %4
%35 = 77 | 2 292 160 ZVo%AB 79 - - G 131 - - - %4
%36 bR 77 | 2 184 101 ZABZAD 66 - - o 83 - - - %4
%37 R 77 | 2 134 73 ZABZAE 18 - - G 60 - - - %4
%38 AT 2 | 1 14 15 FAESFAC 8 - - el # 1 = - - - %1
%39 —EER 77 | 2 145 80 BQ%Z 2 - - G 65 - - - %4
%40 FHRSR 77 | 2 193 106 BQOZAA 4 - - o 87 - - - %4
41 EZ T 77 | 2 118 65 DL-BQ 5 - - G 53 - - - %4
%42 BHEGH 77 | 2 407 223 DL-ZAF 5 - - o 183 - - - %4
=43 BXEy RS 77 2 118 65 DL—%RAH 1 - - a] 53 - - - %4
#a4 PRETSR 77 | 2 114 62 DL>HAG 3 - - o 51 - - - %4
%45 ] 77 | 2 93 51 DL>FAI 2 - - G 42 - - - %4
%46 BEEIR 77 | 2 313 172 DL-FAI 4 - - o 140 - - - %4
%47 BEXER 77 2 184 101 BQoZAJ 1 — — G 83 — — — x4
%48 ERET 77 | 2 118 65 BQZAP 1 - - o 53 - - - %4
%49 Rt 77 | 2 72 39 BQoZAM 17 - - G 32 - - - %4
%50 TSR 77 | 2 173 95 FATHAM 17 - - o 78 - - - %4
%51 TR 77 | 2 118 65 FATFAL 18 - - G 53 - - - %4
%52 ] 77 | 2 641 352 BQZAT 74 - - o 288 - - - %4
%53 BEALSE 77 | 2 173 95 FATZAS 1 - - G 78 - - - %4
%54 TR 77 | 2 89 48 FAQOFAR 2 - - G 40 - - - %4
%55 FREMR 77 | 2 184 101 FAISFAQ 2 - - Gl 83 - - - %4
%56 AR 77 | 2 100 55 FAIFAP 1 - - G 45 - - - %4
%57 AR 77 | 2 118 65 BQ%A0 12 - - Gl 53 - - - %4
%58 SR 77 | 2 60 33 FATFAN 5 - - G 27 - - - %4
%59 TERAR 77 | 2 79 43 BQ-%BD 1 - - Gl 35 - - - %4
%60 B 77 | 2 104 57 BQZBE 1 - - G 46 - - - %4
%61 RANR 77 | 2 125 69 BQMCP 0 - - Gl 56 - - - %4
%62 HESHR 77 | 2 237 130 BQOZAV 3 - - G 106 - - - %4
%63 EEEZ 77 | 2 109 65 BQoFAZ -85 - - Gl 25 Gl EE) - %4
%64 SR 77 | 2 108 59 BQZAW 3 - - G 48 - - - %4
%65 EEER] 77 | 2 89 48 BQZAX 5 - - G 40 - - - %4
%66 St ISR 77 | 2 118 65 BQZAY 7 - - G 53 - - - %4
%67 AT 77 | 2 65 36 FATHAU 2 - - Gl 29 - - - %4
%68 Bl 77 | 2 118 65 FATHBK -103 - - G 15 D) BE) - %4
%69 EEEE] 77 | 2 109 60 FAZZBA 60 - - Gl 50 - - - %4
%70 TSR 77 | 2 101 55 FAZ TR 47 - - G 45 - - - %4
=71 BT 77 | 2 118 65 FAZZBC 7 - - Gl 53 - - - %4
=72 R 77 | 2 109 60 AIC%BA 2 - - G 49 - - - %4
%73 B 77 | 2 75 41 AIC%88 2 - - Gl 34 - - - %4
%74 TR 77 | 2 114 62 FATHBF 7 - - G 51 - - - %4
%75 THERR 77 | 2 114 62 FATSZBG £ - - Gl 51 - - - %4
%76 REHLR 77 | 2 89 48 ZAT%BH 28 - - G 40 - - - %4
=77 REEIER 33 | 2 38 21 ZBH-ZBI 25 = = G 14 ED) EE) - %4
%78 B 33 | 1 17 19 ZBH 5 3 - - el # 1 = - - - %1
=79 KB 33 1 25 27 ZBI->%B) -20 — — ] #1 - — — — %1
%80 RAIR 33 | 1 12 13 ZBIoFA 11 - - el # 1 = - - - %1
%81 JIEHR 77 2 14 7 HAT—>5BK -7 — — a] 7 — - - %4
%82 R 77 | 2 64 35 AT 3BL 230 - - G 29 - - - %4
%83 [GEL] 77 | 2 118 65 FAT R 3 - - G 53 - - - %4
%84 RS 77 | 1 28 31 ZATZBM 12 - - el # 1 = - - - %1
85 EEHR 77 2 - - - FAUSREFR - - - - - — — — &
%86 33 | 1 12 12 = - 9 0 el # 1 = - - - %1
%87 22 1 12 12 - - 10 0 A #1 - — — — %1
%88 2 | 1 = = = - 10 5 = = — — - ©
%89 TR 2 | 1 12 12 = = 9 0 el # 1 = - - - %1
%90 T AR 2 | 1 12 12 = - 10 0 el # 1 = - - - %1
91 LLIEAR 22 1 8 8 - - 2 0 A #1 - — — — %1
%02 R 57 2 | 1 14 14 = - 9 0 el # 1 = - - - %1
93 AARER 22 1 12 12 - - 8 0 A #1 - — — — %1
%04 B 2 | 1 12 12 = - 8 0 el # 1 = - - - %1
%95 2 | 1 12 12 = = 9 0 el # 1 = - - - %1
%96 2 | 1 12 12 = - 9 0 el # 1 = - - - %1
%97 22 1 12 12 - — 9 0 | #1 - — — — %1
%08 33 | 1 = = = = - 6 0 = = — — - ©
%99 3 | 1 - = = = = 1 0 = - - - - [°
il SRETR 77 | 1 92 %2 BER M T 2 - - el # 1 = - - - %1
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P & @SR | SmeRE | EMmE B N-IERNER | N1 Bl S
No B G | R oovxaz | w) HBR LB L B e - ul &

U | HoRsEE TEE || LR
BRI 77 ] 2 75 37 TS WQ 17 = = B] 37 = = — [wa
SRR 77 | 2 184 101 TS EM 17 = = Bl 83 = = — [%a
B 77 | 2 195 107 BUSHS e = = B] 87 = = — [%a
TCRER 7 | 2 118 65 HUEAA B! = = Bl 53 = = — [%a
EOE 77 | 2 136 72 HUSHAE 3 = = B] 61 = = — [%a
BREMR 7 | 2 84 a2 HUEA T 14 = = Bl PP = = — [%a
IR 3| 1 16 16 TS WD 12 = = A # 1 - = = .
THETIIR 3| 1 16 16 DD Z 3 = = Al # 1 - = = e
W10 TETHR 3| 1 4 4 D GF 0 = = A # 1 - = = .
BT BANEER 77 | 1 B R 1% 0 = = Al # 1 - = = S
Wiz EFER 77 | 2 184 101 AVSHEL 7 = = B 83 = = — [%a
W13 NRER 77 | 2 118 65 AYEN ) = = Bl 53 = = — [%a
W14 FRRRH 77 | 2 184 101 AVSHO 2 = = B] 83 = = — [%a
W15 BRI 77 | 2 374 206 AV 53 = = Bl 168 = = — [%a
W16 5 77 | 2 7 37 HOWP 5 = = B] 30 = = — [%a
w17 TR 77 | 2 184 101 AYHO 7 = = Bl 83 = = — [%a
W18 TR R 77 | 2 50 79 AVSHEO 131 = = E] 0 G0 EE — [wa
EAT) R 77 | 2 268 147 AYER 81 = = Bl 120 = = — [%a
20 KRR 77 | 2 178 97 AVSHET 7 = = B] 80 = = — [%a
w21 Eism 77 | 2 369 203 AYEX 5 = = Bl 166 = = — [%a
W22 R 77 | 2 52 50 X 7 = = B] a1 = = — [%a
W23 B 77 | 2 110 60 EX Y 5 = = Bl %9 = = — [%a
H2d e 77 | 2 244 132 AVSEX 0 = = B] 110 = = — [%a
25 BEZR 77 | 2 163 89 AYEY 5 = = Bl 73 = = — [%a
W26 ] 77 | 2 244 132 AVSHAB S = = B 110 = = — [%a
W27 SRR 77 | 2 154 84 AVSHAG BE! = = Bl 69 = = — [%a
W28 PRI 2 | 2 16 g HOHC 10 = = E] 7 G R — [wa
%30 REE AR 2 | 1 g 8 % WK 0 = = A # 1 B = = [
W31 B 2 | 2 33 18 HOHEK 3 = = Bl 5 = = — [%a
W32 B 2| 1 g 8 OB 3 = = A # 1 B = = [
33 RAE 2 | 2 33 18 HOHL 3 = = Bl 5 = = — [%a
W34 == 2| 1 10 10 XG0 0 = = A # 1 B = = [
35 IR 77| 2 109 50 CNHZ 12 = = B 9 = = — [%a
%36 EEEER 77 | 2 109 50 CN—WAF 2 = = Bl 9 = = — [%a
W37 s aan 77| 2 109 54 CN—HEX 12 = = E] 53 = = — [%a
%38 IR 77 | 2 120 66 CN—WAC ) = = Bl 54 = = — [%a
W39 T REBR 77| 2 184 101 CNoHAB 2 = = B 83 = = — [%a
%40 TR 77 | 2 63 ES CN—WAH 3 = = Bl b3 = = — [%a
AT BEER 77| 2 118 65 CN=WHAO 12 = = E] 53 = = — [wa
a2 ELARRR 77 | 2 155 85 CNWAP 7 = = Bl 69 = = — [%a
A3 FERR 77| 2 120 66 CN=HAL 2 = = B 52 = = — [%a
Haa ForR 77 | 2 65 % A PBAK 1 = = Bl 2 = = — [%a
a5 TR 77| 2 154 84 CN=BE 12 = = B 59 = = — [%a
A6 77 | 2 67 37 HAMEAN K = = Bl 30 = = — [%a
a7 77| 2 184 101 HAMSWAG K = = E] 83 = = — [wa
a8 77 | 2 120 66 A VB C 16 = = Bl 54 = = — [%a
#549 77 2 268 147 HAVEEAM -44 - - 7] 120 - - - * 4
50 e 77 | 2 545 299 BESWAV 164 = = Bl 245 = = — [%a
W51 FEIR 77| 2 545 299 BESHAQ ) = = B 245 = = — [%a
W52 FEABER 77 | 2 360 198 BEWBD 2 = = Bl 162 = = = [%a
53 ELET 77 | 2 120 56 B DB 1 2 = = E] 54 = = — [wa
W54 RERTR 77 | 2 184 101 B DB E 2 = = Bl 83 = = = [%a
S5 EEE 77 | 2 184 101 BESHEBN 3 = = E] 83 = = — [wa
56 77 | 2 184 101 BESWBQ B = = Bl 31 = = = [%a
W57 77 | 2 545 259 BEWB K 248 = = E] 245 = = — [%a
w58 77 | 2 70 3 B KB L 8 = = Bl 31 = = = [%a
W59 77 | 2 120 56 B KB P Bl = = E] 54 = = — [wa
60 77 | 2 120 66 B KHBR 16 = = Bl 52 = = = [%a
el 77 | 2 120 56 B K—WB O 20 = = E] 54 = = — [wa
w62 2| 1 10 10 WA MEH 8 = = A # 1 - = = [
63 AR 2 | 1 0 0 WAMHG K] = - A 71 B = = — w1
64 RZRW (20) 2 | 1 5 5 HA VG 0 = = CER - = = [
65 R 2 | 1 0 0 HG R ) = - A 71 B = = — w1
66 EERAR 2 | 1 0 0 HAV G 2 = = CER - = = [
70 EEnt 77 | 2 81 74 BGOWAT 8 = = Bl 36 = = — [wa
w71 BT 77 | 2 184 101 BGOWAS 7 = = Bl 83 = = = [%a
W72 RLRER 77 | 2 159 87 BGoHAW 7 = = E] 71 = = — [%a
W73 R 77 | 2 180 % BGoWBE 2 = = Bl 81 = = = [%a
W74 TR 77 | 2 13 2 B BoWA X 7 = = E] 50 = = — [wa
w75 ErEe] 77 | 2 157 108 BGoWB F 6 = = Bl 88 = = = [%a
W76 ) 77 | 2 102 56 B I WB A 5 = = E] 5 = = — [wa
w77 TR 77 | 2 154 84 BGoWB ) 7 = = Bl 69 = = = [%a
W78 TAZR 77 | 2 72 20 BFOWAR I = = E] 32 = = — [wa
79 B 77 | 2 118 65 BFWAU 7 = = Bl 53 = = = [%a
#80 ERFRIR 77 2 184 101 BF—#(A 1 12 - - aJ 83 - - - %4
81 ES T 77 | 2 121 66 BFOHBG s = = Bl 52 = = — [%a
182 SRR 77 2 184 101 BF—i#iBB -1 - - al 83 — — — %4
w83 TR 77 | 2 154 84 BFoWBH 27 = = Bl 69 = = — [%a
#4584 AlZR 77 2 120 66 BF—#BM -4 - - a] 54 - — — * 4
85 HER 77 | 2 279 153 BF B 164 = = Bl 120 = = — [%a
4486 PEPTSZAR 77 2 118 65 BF—#BH 0 - - aJ 53 - - - %4
88 FLER 7 | 2 118 65 B FSBIRA 0 = = Bl 53 = = — [%a
4489 KRR 77 2 184 101 BF-RBL -4 - - al 83 — — — %4
90 LR 7 | 2 360 198 BFomCV 24 = = Bl 162 = = — [%a
#91 KIFHR 77 2 184 101 BF—RCU 4 - - aJ 83 - - - %4
o2 TR 77 | 2 70 EQ B HHAY 7 = = Bl 31 = = = [%a
%93 KR 77 2 184 101 HWBH—HEAZ 12 - - aJ 83 - - - %4
Hod R 77 | 2 545 299 BFoWBH 2 = = Bl 245 = = = [%a
%95 FRELR 2 | 2 33 18 HACWA 2 = = Bl 15 = = — [wa
9% BIRW 2| 2 EE 8 A CHAD 2 = = Bl 15 = = = [%a
o7 R 77 | 2 110 50 TR 0 = = Bl a9 = = — [wa
%98 FEIR 7 | 2 154 84 TR 0 = = Bl 69 = = = [%a
%99 R 2 | 1 ) ) = = 10 10 el # 1 - = = EENET
%100 FEREER 2 | 1 5 2 - = 11 11 CER - = = .
w101 ERRRRIER 2 | 1 g g B = 8 8 el # 1 - = = EENET
%102 RIRRBER 2 | 1 5 [E] - = 8 0 CER - = = .




32/36

R = iR | smssm | ERsm zas N-BHHE | N-15 L Dokl
No B G | R oovxaz | w) HBR LB L B e - ul &
uggim | HoREEs TEE | g | EX
%103 RECR 2 ] 1 5] 2 = = 5 0 el # 1 E = = e
104 B BRRER 2| 1 2 2 - = 10 10 Al # 1 - = = S
%105 ERIRCRIER 2| 1 5] 2 - = 10 10 A # 1 - = = .
%106 R LReER 2| 1 2 2 - = 10 10 Al # 1 - = = S
%107 HEIRAER 2| 1 5] 2 - = 2 2 A # 1 - = = .
%108 KRR EREE 3 3 - = 3 10 Al # 1 - = = e
%109 ETARE R 3 3 - = 3 10 A # 1 - = = .
H110 % 2 RAER 2| 1 2 2 - = 2 2 Al # 1 - = = e
FAREY T 1 REm 2| 1 5] 2 - = 2 2 A # 1 - = = .
Wil R 2| 1 = - - = 5 7 - - = = - o
FARE] W AR 2| 1 5] 2 - = 2 7 A # 1 - = = .
wila TR 2| 1 2 2 - = 10 7 Al # 1 - = = S
Wils SARAER 2| 1 5] 2 - = 2 7 A # 1 - = = .
Hile TR 2| 1 2 2 - = 2 2 Al # 1 - = = e
w7 SHRBER 2| 1 5] 2 - = 1 1 A # 1 - = = .
Wiis L RECRIER 2| 1 2 2 - = 5 5 Al # 1 - = = e
Wilo AR 2| 1 5] 2 - = 1 1 A # 1 - = = .
%120 Bl 2| 1 2 2 - = 2 11 Al # 1 - = = S
Wizl FERAER 2| 1 5] 2 - = 10 10 A # 1 - = = .
W12 FELRER 2| 1 2 2 - = 10 10 Al # 1 - = = S
FAPE] WEIR 2| 1 5] 2 - = 10 10 A # 1 - = = .
w124 WEERR 2| 1 2 2 - = 10 10 A # 1 - = = e
%125 R 2| 1 5] 2 - = 8 0 A # 1 - = = .
W26 B 2| 1 2 2 - = 2 0 Al # 1 - = = e
Wi e 2| 1 5] 2 - = 2 2 A # 1 - = = .
%128 TERRRER 2| 1 2 2 - = 1 0 A # 1 B = = [
%129 EATRRER 2| 1 g g B = 8 0 R - = = N
%130 TRBER 2| 1 10 10 - = 0 0 A # 1 B = = [
131 EE 2| 1 5 5] - = 10 0 R - = = N
%132 HOBRRIER 2| 1 2 2 - = i1 0 A # 1 B = = [
%133 B 2| 1 B = = - = 8 0 B B = = - o
%134 R 2| 1 B = = - = 1 1 B B = = - o
135 TR 2| 1 E = = - = 1 1 - = = = .
%136 R 2| 1 B = = - = 0 0 B B = = - o
w137 SRR 2 | 1 10 0 - = 7 0 R - = = N
%138 RERRER 2| 1 2 2 - = i1 i1 A # 1 B = = [
%139 TR 2| 1 7 7 B = 5 5 R - = = N
%140 ETRRER 2| 1 2 2 - = 2 0 A # 1 B = = [
w14l HRAER 2| 1 g g B = 5 0 R - = = N
w142 FEE 2| 1 g 8 - = 7 0 A # 1 B = = [
wia3 TR 2 | 1 1 1 - = 9 0 R - = = N
w144 EaR 2| 1 B = = - = 7 0 B B = = e P
W45 BRI 2 | 1 5] 2 - = 10 0 R - = = N
%146 REE R 2| 1 10 10 - = 8 0 A # 1 B = = [
w147 T 2| 1 E = = - = 5 5 B B = = -
%148 EaR 2| 1 B = = - = i1 i1 B B = = - o
%149 B 3| 1 E = = - = 7 0 B B = = - °
%150 R 2| 1 B = = - = 5 5 B B = = - o
W51 e 2| 1 10 0 - = 10 0 R - = = N
Hi52 TR EREE 10 10 - = 8 0 A # 1 - = = [
w153 BT 77 | 1 - = RERUSBERL - = = B - = = - °
Tl RER 77 | 2 114 62 HICTIA a1 = = Bl 51 = = = [%a
2 [ 77 | 2 75 a1 HICHIB K] = = E] 34 = = — [wa
73 R 77 | 2 109 HIC5BA 2 = = Bl 9 = = = [%a
T4 HER 77 | 2 360 198 BB HIC 76 = = E] 162 = = — [%a
s BEZR 77 | 2 70 38 BIFRRT>HID 8 = = Bl 31 = = = [%a
76 ERRR 77 | 2 118 65 REAT 7IE 23 = = Bl 53 = = — [wa
77 = 77 | 2 a1 242 BRI 76 = = Bl 198 = = = [%a
78 B 77 | 2 140 77 BRTIH 8 = = Bl 63 = = — [wa
79 EEE] 77 | 2 105 58 BROIK BE! = = Bl 47 = = = [%a
10 77 | 2 360 198 BROTIF 76 = = B 162 = = — [%a
L 77 | 2 118 65 BRI % = = Bl 53 = = = [%a
12 77 | 2 70 ED BRI Bl = = E] 31 = = — [wa
13 77 | 2 184 101 BROAIL 14 = = Bl 83 = = = [%a
14 TR 3| 2 E7) 7 TG % = = E] 4 = = — [%a
15 ETRE] 77 | 2 ED 21 FIBBHIBC 10 = = Bl 17 = = = [%a
Hi6 eI 77 | 2 22 270 BTSHIN 363 = = Bl 0 &D e — [wa
L7 AR 77 | 2 154 84 BTN 24 = = Bl 69 = = = [%a
18 IR 77 | 2 69 37 BT—HI0 I = = B 31 = = — [wa
719 EE 77 | 2 320 176 BT-#IU 3 = = Bl 144 = = = [%a
#0120 BINZHR 77 2 105 57 BT—#IR -4 — — ] 47 — — — %4
F21 e 77 | 2 70 3 BTAIV 2 = = Bl 31 = = = [%a
22 LB 77 | 2 118 &5 BT>1IQ 7 = = Bl 53 = = — [wa
723 TR 77 | 2 100 55 QAP 7 = = Bl %5 = = = [%a
24 AR 77 2 145 80 BRIV 7 = = Bl 65 = = — [wa
25 TR 77 | 2 118 65 BROTIU 10 = = Bl 53 = = — [%a
27 ) 77 2 % 49 TIUSTIAF 7 = = Bl ) = = — [%a
28 TR 77 | 2 89 65 BSIAL 59 = = Bl 0 = = — [%a
29 BB 77 | 2 184 101 BS—TU 0 = = Bl 83 = = — [wa
130 E== 77 | 2 184 101 BSTIAA 10 = = Bl 83 = = — [%a
#0131 FE=HFZHR 77 2 61 33 BS—flIAG -4 - - B 27 — — — %4
32 BEETER 77 | 2 184 101 BSTIAA 7 = = Bl 83 = = — [%a
33 TR 77 2 70 38 BSHIAE 3 = - G 31 = = — [%a
T34 FEEER 77 | 2 82 75 FIAATIY 3 = = Bl 37 = = — [%a
35 B 77 | 2 56 31 FIAASTIW 1 = = Bl 25 = = — [%a
36 FACER 77 | 2 81 7 FIAASTIX 6 = = Bl 3% = = = [%a
37 B 77 2 e 23 FIAASTIZ 3 = = Bl 19 = = — [%a
738 BT 77 | 2 115 63 FIADSTIAC 1 = = Bl 51 = = = [%a
39 [ 77 | 2 50 3 FIADTIAB 3 = = Bl 27 = = — [%a
740 BEEEER 77 | 2 239 131 BSHIAD 10 = = Bl 107 = = = [%a
a1 E] 77 | 2 184 101 BSHAH 19 = = Bl 83 = = — [wa
a2 BRAER EREE ED 2 BSAIAM 28 = = Bl 16 D) e = [%a
a3 EERR 77 | 2 178 %8 BSHIAV 147 = = Bl 0 AD EE — [xa
744 TR 77 | 2 230 126 BSIA) 16 = = Bl 103 = = = [%a
45 Him EREE 30 16 FIAISTIAK 13 = = Bl 13 = = — [%a
746 = 77 | 2 184 101 BSTIAP 17 = = Bl 83 = = = [%a
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R mE BASE | SMSERE | SEsE zas N-IHNER | N1 L Dokl
No B ) | T Goowxam) | (Mw) HBR LB L B e - ul &
uggim | HoREEs TEE | g | EX
47 B 77 2 75 73 BSTIAO 38 = = B] ES = = — [wa
48 TEXR 77 | 2 184 101 BSHIAN 2 = = Bl 83 = = — [%a
49 BRI 77| 2 75 a1 BSSTIAC 65 = = B 11 D e — |xa
50 EREER 3| 1 15 15 FAMSHIAL B = = el # 1 = = = S
51 B 3| 1 16 16 FAMTIAL 2 = = Al # 1 - = = .
52 WHEER 77 | 2 184 101 QoIAP 7a = = B 83 = = — [%a
53 B 77 | 2 89 78 QTIAQ S = = B] 20 = = — [%a
[ 5] 77 | 2 89 a8 QTIAR K = = Bl 40 = = — [%a
55 AEEER 3| 2 32 7 FIATTIAS 14 = = B] ) = = — [%a
756 RS 77 | 2 135 7a QTIAT 26 = = Bl 61 = = — [%a
57 AR 3| 2 2 23 FIAT-T0AU 24 = = B 18 BD BED — [%a
58 BER 77 | 2 89 a8 HATTIAU 7 = = Bl 40 = = — [%a
59 BERBR R ED 15 QoTIAU 14 = = B] 17 = = — [%a
760 oL 3| 2 2 18 TAVSTIAW 21 = = B 3 ED) e — |xa
61 WhRR 3| 2 22 2 FAVSTIAW % = = B] 10 = = — [%a
762 E%HR 3| 2 50 27 TAVSTIAW SE] = = Bl 2 = = — [%a
63 RPN 3| 1 16 16 FAWSICK 3 = = T # 1 - = = .
64 TR 77 | 2 545 299 QBB 384 = = B 161 = = — [%a
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